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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as °-') are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day
PNE BOI IDEI SBI BOB
Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

FrafafEa ofte & Smar & wfer 9% o A o Rewl & ofT yRrdin §9t ar1 il ™ wemer & i
st i S uehitfa &1 oifte & 7o o (- & wu ¥ ) qu & ot smaxgea & & o 3% wReas #1
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qaR 34 36 46 50 36
AR 42 - 28 56 50
AR 46 44 46 - 36
AR . 28 24 46 36
BIETIN 20 20 - 30 44
THAR 34 52 40 40 48
e
m&mﬁﬁ 224 | 218 216 246 | 250




What is the ratio of the number of candidates interviewed by SBI on Friday and Saturday together to that of candidates
interviewed by BOI on the same two days?

1.35:38
2.35:36
3.39:40
4. 45:46

(1)
(2)
(3)
(4)

A W N =

YHAR AR AFER S 7P W e o0 &f 215 gR1 ol T TR | it afifal o S o1 30 of fet 3 &t off ong
ERT ol wianep R H i srafdal ©1 Hea 9 S-ud fa- 82

1.35:38
2.35:36
3.39:40
4. 45:46

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43701] Question Description : dwbv_pg_gp36_eng_2_q1
2[Option ID=43702]
3[Option ID=43703]
4[Option ID=43704]
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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as °-') are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day
PNE BOI IDEI SBI BOB
Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

FrafafEa ofte & Smar & wfer 9% o A o Rewl & ofT yRrdin §9t ar1 il ™ wemer & i
fifar i dem uehitfa &1 oifte & 7o o (- & wu § ) qu & ot srawgea & & o 3% wReaT #1
=TT BT AT & | AT § 3 T4 SiTP el & SMUR W UHT & 3w Mg

ot g fomr T enanffa &1 - aR "ere R

&t R o T8 snafifal &t de
fe g | dtef | e didl | wyd | &l
| e 3 g |
qHaR 34 36 46 50 36
AR 42 - 28 56 50
AR 46 44 46 - 36
TTBdR . 28 24 46 36
BIETIN 20 20 - 30 44
THAR 34 52 40 40 48
e
_HT&WTET 224 | 218 216 246 | 250

The number of candidates interviewed by IDBI on Wednesday is ___ % of the total number of candidates interviewed by all
the Banks on the same day.

1. 26.65
2.2347
3.28.47
4. 24.35

1)
(2)
(3)
(4)

A W N =




THAR DI 315 of df 3ATs GRI [ T WiaepR & =nfia srafifal o e 39 fo7 vt §af er1 ol 0 wremer & =nfia
gl @ o YA B fdraT Uia=rd (%) 82

1. 26.65%
2.23.47%
3.28.47%
4. 24.35%

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=43705] Question Description : dwbv_pg_gp36_eng_2_q2
2[Option ID=43706]

3[Option ID=43707]
4[Option ID=43708]
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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as °-') are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day
PNE BOI IDEI SBI BOB
Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

FrafafEa ofte & Smar & wfer 9% o A o Rewl & ofT yRrdin §9t ar1 il ™ wemer & i
fifar i dem uehitfa &1 oifte & 7o o (- & wu § ) qu & ot srawgea & & o 3% wReaT #1
=TT BT AT & | AT § 3 T4 SiTP el & SMUR W UHT & 3w Mg

ot g fomr T enanffa &1 - aR "ere R

&t R o T8 snafifal &t de
fe g | dtef | e didl | wyd | &l
| e 3 g |
qHaR 34 36 46 50 36
AR 42 - 28 56 50
AR 46 44 46 - 36
TTBdR . 28 24 46 36
BIETIN 20 20 - 30 44
THAR 34 52 40 40 48
e
_HT&WTET 224 | 218 216 246 | 250

What is the number of candidates interviewed by all the Banks on Tuesday?

1. 202
2.216
3.208
4,214

(1)
(2)
(3)
(4)

D W N =




AR @ Gyt do! grT o 8 Wi R 1 e snafdal e e feat g

1. 202
2.216
3.208
4. 214

1)
(2)
(3)
(4)

A W N =

1[Option ID=43709] Question Description : dwbv_pg_gp36_eng_2_q3
2[Option ID=43710]
3[Option ID=43711]
4[Option ID=43712]
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The following table shows the number of candidates interviewed by five Indian Banks on six different working days

from Monday to Saturday. Some values (marked as °-') are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day
PNE BOI IDEI SBI BOB
Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

FrafafEa ofte & Smar & wfer 9% o A o Rewl & ofT yRrdin §9t ar1 il ™ wemer & i
fifar i dem uehitfa &1 oifte & 7o o (- & wu § ) qu & ot srawgea & & o 3% wReaT #1
=TT BT AT & | AT § 3 T4 SiTP el & SMUR W UHT & 3w Mg

ot g fomr T enanffa &1 - aR "ere R

&t R o T8 snafifal &t de
fe g | dtef | e didl | wyd | &l
| e 3 g |
qHaR 34 36 46 50 36
AR 42 - 28 56 50
AR 46 44 46 - 36
TTBdR . 28 24 46 36
BIETIN 20 20 - 30 44
THAR 34 52 40 40 48
e
m&mﬁ 224 | 218 216 246 | 250

Approximately, by what percent the number of candidates interviewed by SBI on Thursday increased with respect to that
interviewed on previous day?

1.80 %
2.96 %
3.88%
4.92 %

1)
(2)
(3)
(4)

H W N =




g 32 R T%aR 3 1 T Ham@R 3 2fid orafial of Sen 39 1@ foq & i T wereR § 2t erafifal i
T 1 S(uaf T fpa- Uia=id 96 152

1. 80%
2.96%
3.88%
4.92%

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=43713] Question Description : dwbv_pg_gp36_eng_2_q4
2[Option ID=43714]

3[Option ID=43715]
4[Option ID=43716]
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The following table shows the number of candidates interviewed by five Indian Banks on six different working days
from Monday to Saturday. Some values (marked as °-') are missing in the table which you are expected to calculate if
required. Based on the data in the table, answer the questions.

Day-wise Interview of Candidates by Banks

Number of Candidates Interviewed By
Day
PNE BOI IDEI SBI BOB
Monday 34 36 46 50 36
Tuesday 42 - 28 56 50
Wednesday 46 44 46 - 36
Thursday - 28 24 46 36
Friday 20 20 - 30 44
Saturday 34 52 40 40 48
Total Interviewed 224 218 216 246 250

FrafafEa ofte & Smar & wfer 9% o A o Rewl & ofT yRrdin §9t ar1 il ™ wemer & i
fifar i dem uehitfa &1 oifte & 7o o (- & wu § ) qu & ot srawgea & & o 3% wReaT #1
=TT BT AT & | AT § 3 T4 SiTP el & SMUR W UHT & 3w Mg

ot g fomr T enanffa &1 - aR "ere R

&t R o T8 snafifal &t de
fe g | dtef | e didl | wyd | &l
| e 3 g |
qHaR 34 36 46 50 36
AR 42 - 28 56 50
AR 46 44 46 - 36
TTBdR . 28 24 46 36
BIETIN 20 20 - 30 44
THAR 34 52 40 40 48
e
_HT&WTET 224 | 218 216 246 | 250

What is the average of the total number of candidates interviewed by BOB and BOI from Monday to Friday?

1. 166
2. 178
3.184
4,218

(1)
(2)
(3)
(4)

D W N =




YHaR U YHaR ad &1 3 s AR & Hl 35 gRT A T4 WaTDR H A iyl &f oo U & H4d fba- g7

1. 166
2. 178
3.184
4. 218

1)
(2)
(3)
(4)

P W N =

1[Option ID=43717] Question Description : dwbv_pg_gp36_eng_2_q5
2[Option ID=43718]
3[Option ID=43719]
4[Option ID=43720]

Sl. No.6
QBID:36201006

Which channel of swayamprabha deals with social science-1 (Social and bevavioural sciences)?

1. PRABODH - Channel 03
2. VAGEESH - Channel 01

3. KAUTILYA - Channel 07
4. SANSKRITI - Channel - 02

(1)
(2)
(3)
(4)

WU & S H 1 o IS [G5-1 (SRS U4 FdeR-a9H) § Jafid &2
1. WY - 99 03

2. gIfTE - T4 01
3. ®ifteg - S9d o7

4, TEpla - 999 02

A W N =

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43721] Question Description : dwbv_pg_gp36_eng_2_q6
2[Option ID=43722]

3[Option ID=43723]
4[Option ID=43724]

Sl. No.7
QBID:36201007

Which of the following are the factors that affect learning?
A. Mental health

B. Attention

C. Gender

D. Readiness

E. Fatigue

Choose the correct answer from the options given below:

1.B, C and E only
2.A, B DandE only
3.Cand E only

4. A, Cand D only

1) 1




(2) 2

3) 3

4) 4

fufafad 0 9 9 oRS oH T § S T & nyifad $d &2

A OHFMS Wy

B. 0T

c. o (feR)

LG

E. UPH

EERA RN TR R R ke e R
1. 5dd B, C ARE
2.FgAA, B, D AR E

3. HaqC ARE
4.Hdd A, C 3R D

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43725] Question Description : dwbv_pg_gp36_eng_2_q7
2[Option ID=43726]
3[Option ID=43727]
4[Option ID=43728]

Sl. No.8
QBID:36201008

Which of the following are the examples of Learning Management System (LMS)?
A. Schoology

B. Edmodo

C. Canvas

D. Bookcreator

E. LeamnDash

Choose the correct answer from the options given below:

1.B, D and E only
2. Aand Conly
3.A B, CandE only
4.B, Cand D only

1)
(2)
(3)
(4)

A W N =




HTERTH W& T (U0 TH TH) & a6 Haidied 5 4 dH T Er
A. paileit
B. USHIS!
C. Ba

D. g% fhuex

SSEEE]

4 feu e fased! # 9 98l SR 2 -
1. ®dd B, D AR E
2. FadA R C

3.HadA, B, CHRE
4. Had B, C IR D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43729] Question Description : dwbv_pg_gp36_eng_2_q8
2[Option ID=43730]

3[Option ID=43731]
4[Option ID=43732]

Sl. No.9
QBID:36201009

Students watch and listen to the videos of a lecture before coming to the class. It is an example of

1. Lecture Method

2. Flipped Classroom

3. Programmed learning
4. Project Method

(1)
(2)
(3)
(4)

BT H 3 ¥ Ud el aarer & dif3al dad +fk gHd €1 98 [ad Sarev g2

1. e fafy

2. Ucie! ®a (fiets Faraen)
3. PRHHES AT

4. gfedrerT fafy

H W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43733] Question Description : dwbv_pg_gp36_eng_2_q9
2[Option ID=43734]
3[Option ID=43735]
4[Option ID=43736]

Sl. No.10
QBID:36201010

Which of the following methed is based on learning-central approach of Education?

1. Lecturing - Demonstration
2. Activity based scaffolding
3. Joyful Method

4. Inductive Method




1) 1
(2) 2
(3) 3
(4) 4

Frofafaa o @ o1 O usia e & M-S Iurm W s 82

1. ArEH-fgEH

2. TIfafafy smenfa s (SFwifce)
3. gD Ugid

4. FTHATES Ggid

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43737] Question Description : dwbv_pg_gp36_eng_2_q10
2[Option ID=43738]
3[Option ID=43739]
4[Option ID=43740]

Sl. No.11
QBID:36201011

In quantitative research, providing a basis for more precise estimation of the degree of relationship among or betweeen
concepts is the function of

1. Surveying
2. Reviewing
3. Measurement
4. Sampling

1)
(2)
(3)
(4)

P W N =

HEATHED MY H SHTURUNSHT H a1 39 did Gaei &1 J4E1 & e JUae g0 & (U U YR UGH &l HEfaiad 3§ 9
foueT U ydr 57

1. GAEIUT BT

2. TRIGaA®A BT
3. HY

4. Y=g

1)
(2)
(3)
(4)

A W N =

1[Option ID=43741] Question Description : dwbv_pg_gp36_eng_2_qi11
2[Option ID=43742]
3[Option ID=43743]
4[Option ID=43744]

Sl. No.12
QBID:36201012

A major limitation of the postal questionnaire survey is

1. Need for supplementary questions
2. Availability of extra data

3. Need for a covering letter

4. Higher rate of non-response

11
) 2
3) 3




(4) 4

SToh-YHTacl Hd&Ul B Udb Jd YH-FeRo @& g?

1. YT Wl DI ATl

2. HfaRad & (3 s Judsa

3. UE-UF (@A tiex) D1 a=gddl
4, IR-UTR B IR &3

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=43745] Question Description : dwbv_pg_gp36_eng_2_q12
2[Option ID=43746]

3[Option ID=43747]
4[Option ID=43748]

Sl. No.13
QBID:36201013

The photo-elicitation technique is used in

1. Experimental research
2. Visual ethnography
3. Applied research

4. Content analysis

(1) 1
) 2
(3) 3
(4) 4

fafafad o ¥ fud [A-3wRuIia do-1d &I Wad (Bl ol o7

1. YOS 2

2. T Jollid-aviA

3. IUgad Y

4, Tawgasg &1 fazerwm

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=43749] Question Description : dwbv_pg_gp36_eng_2_q13
2[Option ID=43750]

3[Option ID=43751]
4[Option ID=43752]

Sl. No.14
QBID:36201014




Which of the following are advantages of quantitative interviewing over participant observation?
A. Wider range of issues can be discussed.

B. Events can be re-constructed.

C. Ethical aspects of research can be adhered to.

D. Name-calling is permitted.

E. Qutsiders can be allowed to interrupt the process.

Choose the correct answer from the options given below:

1.A Band Conly
2.B,Cand D only
3.C, Dand E only
4. A, DandE only

(1)
(2)
(3)
(4)

A W N =

WU W&o &1 gaH1 H AUIaIaR® AT R H- & HUieRad H ¥ Y T 87
A TR O IS R @1 99l B ol Ybdi o
B. ge1 &I G Wiud 1351 o Ul o

C. MY & AR Uail 1 ureH 6a1 o Uadi o
D. SURTeE, e (H-PHCHT) BT A < Wt B
E. 9131 Afaqd! &l 39 Wikl & did | Sie- & AT &1 o Yddl g
14 feu e fased! & 9 98l 3w 2 -
1. ®AdA, B, C
2. %A B, C D

3.H9dC D, E
4. HAd A, D, E

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43753] Question Description : dwbv_pg_gp36_eng_2_q14
2[Option ID=43754]
3[Option ID=43755]
4[Option ID=43756]

Sl. No.15
QBID:36201015




Given below are two statements:
Statement I: Coding is an important process in grounded theory in which data are classified into well- defined categories.

Statement II: The researcher’s interpretations decide his or her emergent codes in grounded theory, and different types of
coding are identified.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true.

1) 1
(2) 2
(3) 3
(4) 4

EIEEAEHE AR
TU - | : Deag D AURD gl & 0@ Feaqy ufbd &, fored &d (S & guikHifta &1 & afled foa S g

B - || : bl 1 ARSAN MUTRSD FSia H IHP Il Pe DI FYiRd Bl § R Peds P & (49 YORI B JgdH P
EIRIE]

Suddd Byl & el H FEfiRad fasedl # 8 9gl SR 9 :

1. WY | 3R 11 EH 98l B
2. @Y | AR 11 &F Tad g
3. %Y1 9 8, g BT 1 TTad § |
4. B | HA T, Fg I 1 T B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=43757] Question Description : dwbv_pg_gp36_eng_2_q15
2[Option ID=43758]

3[Option ID=43759]
4[Option ID=43760]

Sl. No.16
QBID:36201016

In an implicit business agreement, communication is

1. Ambiguous
2. Fragmented
3. Contrived
4. Extensive

(1) 1
(2) 2
(3) 3
(4) 4

TS oo ATHIa® G T TN #1 5ldl 67
1. 3y
2. @fgd

3. AP (BLT508)
4. fa&ga

1) 1
) 2




3) 3
(4) 4

1[Option ID=43761] Question Description : dwbv_pg_gp36_eng_2_q16
2[Option ID=43762]
3[Option ID=43763]
4[Option ID=43764]

Sl. No.17
QBID:36201017

In organisational systems, orgnisational communication supplies

1. Attitudinal inputs

2. Political inputs

3. Social inputs

4. Entertainment inputs

(1) 1
(2) 2
3) 3
(4) 4

i1 wonfed! § GisHe Srigy G gfd ol 62

1. HHIT AFTd (1Y)
2. eHIdD HETd

3. qHIfe® T

4. TR AT

1)1

(2) 2

3) 3

4) 4

1[Option ID=43765] Question Description : dwbv_pg_gp36_eng_2_q17
2[Option ID=43766]

3[Option ID=43767]
4[Option ID=43768]

Sl. No.18
QBID:36201018

Which one of the following is a communication barrier?

1. Communicatee attention
2. Semantic distortion

3. Amplified image

4. Infographic

(1)1
) 2
(3) 3
(4) 4

fefaRad # ¥ & Ue TR-ar 87

1. GAIYURITE! &1 &
2. HE fgEum

3. yaftld 8fa (uRkiwss $He)

4. q1fthds UrET § Yo (B HTh®)

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=43769] Question Description : dwbv_pg_gp36_eng_2_q18
2[Option ID=43770]

3[Option ID=43771]
4[Option ID=43772]

Sl. No.19
QBID:36201019




Which of the following are objectives in marketing communicatien?
A. Belittling competitive brands

B. Category need

C. Brand awareness

D. Brand attitude

E. Brand purchase intention

Choose the correct answer from the options given below:

1.A B, Cand D only
2.B,C,DandEonly
3.A,C, DandE only
4.A, B, DandE only

(1)
(2)
(3)
(4)

A W N =

fofeRad o ¥ oY fgus 8N & 3530 &2

A, e sTd &1 Hedl ©H B

B. 401l 1 a2l

C. 518 & R H Rl

D. 5 @I sfftigfi

E. 18 @ %4 P 530Gl

= fou 7Te faent & © w81 SW g -
1. ®Ad A, B, C, D
2. %4t B, C D, E

3.WadA C D, E
4.Had A, B, D, E

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43773] Question Description : dwbv_pg_gp36_eng_2_q19
2[Option ID=43774]
3[Option ID=43775]
4[Option ID=43776]

Sl. No.20
QBID:36201020

Given below are two statements:

Statement : When messages are delivered by popular sources, they have higher attention and recall of the receivers.
Statement II: A highly credible source may not score much in the areas of expertise, trustworthiness and likability
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1




(2) 2

3) 3

4) 4

FHU - | : O1F AP T gRT UG UeH [t SId & dl S-Io! Urddmdiell ¥ S=a @1 iR ¥R Ud giar & |
B - || : U ST fays-itg O aRusdl, Ryg-iga-gim ok udeh & &=l | ifUe bR U =a! Hi & 9@
Quddd B! &b el H FEfaRad fasedl # 8 9gl SR g :

1. YT | AR 11 T TEl B
2. @Y | AR 11 GF Tad g
3.1 el g, g @y 1 7Tad § |
4. @Y 1 TAd 8, g I 1 T B

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=43777] Question Description : dwbv_pg_gp36_eng_2_q20
2[Option ID=43778]

3[Option ID=43779]
4[Option ID=43780]

Sl. No.21
QBID:36201021

The ages of two sisters A and B are in the ratio of 7:6. After 12 years, the ratio of their ages will be 9:8. Find the difference
between their ages.

1.5 years
2.4 years
3. 6 years
4. 8§ years

(1) 1
(2) 2
3) 3
(4) 4

A ST B Gl G-l B 3G 7:6 & UG H g1 12 I4 UL 3SR BT YN 9:8 I | SBT3 P HHA HcR Jd DIfeIgz

1.539
2.4
3.6T4
4,894

1)1

2) 2

3) 3

4) 4

1[Option ID=43781] Question Description : dwbv_pg_gp36_eng_2_q21
2[Option ID=43782]

3[Option ID=43783]
4[Option ID=43784]

Sl. No.22
QBID:36201022




In a certain code language:

A) It is dark outside” is coded as: 'la sa ka tu'

B) "It is still raining' is coded as: 'sa la si ra’

C) "Raining heavily outside' is coded as: 'ra ha tu'

How ‘dark’ and ‘heavily’, respectively, are coded in that language?
1.7 & sl

2.'a" & 'ha'
3.'sa" & 'ra’
4. 'ka' & 'ha’

1)1
(2) 2
(3) 3
(4) 4

afg fodll He Hiw #:
A 3T 39 ST HISCHES DI NI I § & ©U H Heds [bdl T[T g
B. < 50 e d YT @1 W Al H T & ©U H Peas [ddl ™ &
C. T Biaeh He3euss @ WEl § & ©U H Geas (odl T4 &
a1 3t HIE H B8 26 R Bfad Bl {54 0t 9 Beag oar S
1. SR r
2.0 3R BT

3.9 AR AT
4. BT 3R BT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43785] Question Description : dwbv_pg_gp36_eng_2_q22
2[Option ID=43786]

3[Option ID=43787]
4[Option ID=43788]

Sl. No.23
QBID:36201023

What number can replace question mark (?) in the series given below?
1.4, 7,13, 22,37, 61,100, 7

1.163
2.161
3.171
4.173

1)1
(2) 2
(3) 3
4) 4




a & T2 e 5 DF O SE Uy aEd g (7) B afaRiTid St 2
14,7,13,22,37,61,100,7

1.163
2.161
3. 171
4.173

1)
(2)
(3)
(4)

P W N =

1[Option ID=43789] Question Description : dwbv_pg_gp36_eng_2_q23
2[Option ID=43790]
3[Option ID=43791]
4[Option ID=43792]

Sl. No.24
QBID:36201024

A sum of money deposited in a bank at a simple interest per annum becomes ¥ 5200 in 5 years and ¥ 5680 in 7 years. Find
the rate of interest per annum.

1.6.5%
2.6%
3.5%
4, 5.5%

(1)
(2)
(3)
(4)

H» W N =

ofE ol 96 o 90 &1 71, Sd 4-RIR Wi 9y YR o497 & ATYR WR 5 a9l H 3 5200 94T 7 a9 H < 5680 B 1l g1 df Wiaay
TS R J1d Bife|

1.6.5%
2.6%
3.5%
4. 5.5%

(1)
(2)
(3)
(4)

H W N =

1[Option ID=43793] Question Description : dwbv_pg_gp36_eng_2_q24
2[Option ID=43794]
3[Option ID=43795]
4[Option ID=43796]

Sl. No.25
QBID:36201025

The ratio between Sale price (S.P.) and Cost price (C.P.) of an article is 5:3. Find the ratio between profit and the cost price of
that article.

1.2:3
2. 45
3.25
4,52

(1)
(2)
(3)
(4)

A W N =




Tfe fodl 9% & fashd TOed (S.p.) Ud TNTd I (C.P.) & T 30T 5:3 B T IU 9% & a1y Td TR Heg & 08 0T J1d
DIy

1.2:3
2.4:5
3.2:5
4.5:2

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43797] Question Description : dwbv_pg_gp36_eng_2_q25
2[Option ID=43798]
3[Option ID=43799]
4[Option ID=43800]

Sl. No.26
QBID:36201026

Which informal fallacy is committed in the following statement - "Famous singer Mr. Shantanu says ABC toothpaste boosts
our immunity, therefore we must buy ABC toothpaste™?

1. Appeal to Ignorance

2. Red Herring

3. Strawman

4. Appeal to Inappropriate authority

(1)
(2)
(3)
(4)

H W N =

fafaRad U 5 &H 91 3FEI® b oY ¢ - “Uig Tad 4t 2idr] - &el fe T & O Sared earl uferen o sgran g,
zafem g8 U & T SadeH @die 9yl 7

1. WRIHHO® gfad

2. 3B

3. A (919 &1 gaa)
4. 3JUYad WIHIDR TG

1)
(2)
(3)
(4)

P W N =

1[Option ID=43801] Question Description : dwbv_pg_gp36_eng_2_q26
2[Option ID=43802]
3[Option ID=43803]
4[Option ID=43804]

Sl. No.27
QBID:36201027




Which of the following statements are contrary to each other as per traditional square of opposition?
A. All plants are oxygen producers.

B. Some plants are oxygen producers.

C. Some plants are not oxygen producers,

D. No plants are oxygen producers.

Choose the correct answer from the options given below:

1.B and C only
2.Aand D only
3.Aand Conly
4.B and D only

1)
(2)
(3)
(4)

P W N =

URAERS a1y & & SFER FEfaRad § § oF J Y- IR [uid 87
A 1 UGy SHTeRiIoH IdIed Bid & |

B. 9 UG HRIISH JUGD &id 6

C. TS UIeY AIRioH SHGd el aid &
D. ®Is Ul UIgy 3fieo SdG® Je aidl ol
T2 TGU 1Y faed | € 9ol SwR 9

1. a0 B 3R C

2.%ad A SR D

3. Had A R C
4. 9B AR D

(1)
(2)
(3)
(4)

H W N =

1[Option ID=43805] Question Description : dwbv_pg_gp36_eng_2_q27
2[Option ID=43806]
3[Option ID=43807]
4[Option ID=43808]

Sl. No.28
QBID:36201028

Which of the following statements are logically equivalent?
A. No lions are herbivorous animals.

B. No herbivorous animals are lions.

C. All lions are non-herbivorous animals.

D. All non-herbivorous animals are non-lions.

Choose the correct answer from the options given below:

1.B, Cand D only
2.Cand D only
3.Band D only
4. A, B and Conly




1) 1
(2) 2
(3) 3
(4) 4

Ffeied ¥ 9 &F 3 @3 difde ©9 4 I9gd 82
A. i3 HI 2R AMeHTE ug) 48! gl 3|
B. I3 /I ApTER] UZ] TR &I Ehefl 81
C. 9 IR IR-TPERI Y T B
D. Tl TR-THTER! Uy R-T B B
T4 feu e fased # 9 98l SR 9 -
1. ®dd B, C AR D
2.%ad C 3R D

3. ®ad B 3N D
4. HAdA, B3R C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43809] Question Description : dwbv_pg_gp36_eng_2_q28
2[Option ID=43810]

3[Option ID=43811]
4[Option ID=43812]

Sl. No.29
QBID:36201029

If the statement -"No lions are herbivorous animals” is given as true, then which of the following statements can be
immediately inferred to be true?

1. Some lions are not carnivorous animals.
2. All lions are herbivorous animals.

3. Some lions are herbivorous animals.

4. Some lions are not herbivorous animals.

1)1
(2) 2
(3) 3
(4) 4

g HYH - "By Hi TR WHERT UY 6] 81d1 8" T & &0 H fGar T g, df Fufafed 3 ¥ & 91 oy didpliae €0 4 g
& ©Y H I 601 o 9dhdl o2

1. 3% IR AEEN U] T8 &l B

2. 941 R WPHERI R gid ¢ |

3. $S W AMPERI U Bl 5|

4. TS TR MHERI U Tel 81 B

1) 1

(2) 2

3) 3

4) 4

1[Option ID=43813] Question Description : dwbv_pg_gp36_eng_2_q29
2[Option ID=43814]

3[Option ID=43815]
4[Option ID=43816]

Sl. No.30
QBID:36201030




In which type of following inference the middle term is both positively and negatively related to the major term as per
Classical Indian School of Logic?

1. Kevalvyatireki
2. Kevalanvayi

3. Anvayavyatireki
4. Satpratipaksa

1)
(2)
(3)
(4)

A W N =

YR YRA dd 7d & AR HEfiad o ¥ 6y oaF § 99 Ug YRS U4 T0RIED GH YoR 4 §8I96 4 et
87

1. HaaAfdi®!
2. Saarad
3. S R®
4. Taufaus

1)1

2) 2

(3) 3

4) 4

1[Option ID=43817] Question Description : dwbv_pg_gp36_eng_2_q30
2[Option ID=43818]

3[Option ID=43819]
4[Option ID=43820]

Sl. No.31
QBID:36201031

Consider the following Snapshot of MS-EXCEL worksheet:

A B C D
1 |Roll Number Test Marks-1 Test Marks-2 Total marks
2 |201 80 60 140
3 202 70 30 120
4 (203 40 30 70
5 |204 30 32 62
6 |205 85 a5 170
7 206 65 a0 145
8 207 72 96 168
g |208 25 32 57
10 |209 90 78 168
11 1210 25 40 65
12

The formula =SUMIF(B2:B11,"<50", D2:D11) in cell D12 will result in __.

1.120
2. 254
3.90

4. 244

(1)1
) 2
3) 3
(4) 4




T UG-UHd SRS & HEad AR R R S
A B c D

1 |3 |TET-3id-1 [ThE-30®-2 [ i,

2| 201 80 60 140

3| 202 70 50 120

4| 203 40 30 70

5| 204 30 32 62

6| 205 85 85 170

7| 206 65 80 145

8| 207 72 96 168

9| 208 25 32 57
10| 209 90 78 168
1| 210 25 40 65

12

Yd D12 H QA = SUMIF(B2:B11," <50",D2:D11) &I UNRUIH BRT:

(1)
(2)
(3)
(4)

1.120
2. 254
3.90

4, 244

Hd W N =

1[Option ID=43821] Question Description : dwbv_pg_gp36_eng_2_q31
2[Option ID=43822]
3[Option ID=43823]
4[Option ID=43824]

Sl. No.32
QBID:36201032

Giv

en below are two statements:

Statement I: Chatbot is an example of Digital Intelligence.

Statement |l: Amazon's 'Alexa’ and Apple's 'Siri* are examples of Artificial Intelligence.

In light of the above statements, choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

1. Both Statement | and Statement |1 are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

H W N =




P N o e o

@Y - | : gedie, SR gigae G=dioR) @1 U® 3T ol

YA - |1 : ESA BT YT AR U &1 ORC $EH i & Ieev gl
Quddd B! &b el H FEfaRad fasedl # 8 9gl SR g :

1. YT | AR 11 T TEl B
2. @Y | AR 11 GF Tad g
3.1 el g, g @y 1 7Tad § |
4. @Y 1 TAd 8, g I 1 T B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43825] Question Description : dwbv_pg_gp36_eng_2_q32
2[Option ID=43826]
3[Option ID=43827]
4[Option ID=43828]

Sl. No.33
QBID:36201033

Which of the following are the advantages of Dynamic RAMs (DRAM) over Static RAMs (SRAM)?
A. They are much less expensive to manufacture than SRAM.

B. They consume less power than SRAM.

C. They have a higher storage capacity than SRAM.

D. They are much faster than SRAM when it comes to data access.

Choose the correct answer from the options given below:

1.A Band Conly
2. A and Conly
3.B and Conly
4. A and B only

1)
(2)
(3)
(4)

P W N =

Ffad 11 (SRAM) BT 3HU&T TTfdd ¥ (DRAM) & aH FafaRad A S o 4 82
A. Rfgs 1 B ga J 3701 a0 959 o9 el sl g1
B. 4 Wfd® T B U1 $H FHoil BT JUHT B &
C. 378 Qfae XA 3T 3UET I HSR &Ha 8id 81
D. 3 e (3HforTH) T & e # Wi W Y dgd da gid g
72 TGU 10 fged H 9 96l SR 24 :
1. HAUA, B 3R C
2.®Had A R C

3. Had B3N C
4. %ad A 3R B

1 1
) 2
(3) 3




4) 4

1[Option ID=43829] Question Description : dwbv_pg_gp36_eng_2_q33
2[Option ID=43830]
3[Option ID=43831]
4[Option ID=43832]

Sl. No.34
QBID:36201034

In Computer Networking, which type of wired transmission medium has a core of refined glass?

1. Optic fibre

2. Coaxial cable

3. Shielded twisted pair

4. Unshielded twisted pair

(1) 1
) 2
3) 3
(4) 4

HEeR Hedld H, Fafiiad H ¥ fog dRgead SUuu J1eH & SR H URShd Bid &1 1S gl o7

1. 3PS BIEER

2. TH1E BEa

3. UTRférd arafdd g
4, UTRfErT oarafdd 0

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43833] Question Description : dwbv_pg_gp36_eng_2_q34
2[Option ID=43834]

3[Option ID=43835]
4[Option ID=43836]

Sl. No.35
QBID:36201035

Two binary numbers are added as given below:

[N =]
[=1 Ll =
o= o
[N YR

Then(a, b, c, d)=__.

0,0, 1,71)
0,10 1)
1,0,0,1)

(
(
(
(1,0,1,0)

1.
2.
3.
4,

1) 1
(2) 2
(3) 3
(4) 4




gfe; < fgenur et 9 TR 9 SIg! &l &:

=la o
(=N -
ol a
SR [

al (abecdy=__

0,0.1,1
0,1.01
1,0,0,1
1,0,1,0

JaoLa pg
.
L R e e

(1)
(2)
(3)
(4)

H W N =

1[Option ID=43837] Question Description : dwbv_pg_gp36_eng_2_q35
2[Option ID=43838]
3[Option ID=43839]
4[Option ID=43840]

Sl. No.36
QBID:36201036

Given below are two statements:

Statement I: Wind energy has high energy density.

Statement |I: Wind energy is an intermittant source of energy.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement 1l is correct.

(1)
(2)
(3)
(4)

H W N =

EIERA AR

T - | : U Sl § I FHoll ¥ Biell 81

DY - 11 : FHol DI D HRIUD Id Uad Holl oidll o
Qe Byl & e H FEfiREd [dewedl § 8 9el SR 9 :

1. ®YF | AR 11 G T8l 8l
2. ®YF | AR 11 BF T &
3. @Y1 el e, g @y 1 7Tad & |
4. Y| A 8, fog dYT 1 TS B

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=43841] Question Description : dwbv_pg_gp36_eng_2_q36
2[Option ID=43842]

3[Option ID=43843]
4[Option ID=43844]

Sl. No.37
QBID:36201037




Ozone layer is in

1. Thermosphere
2. Mesosphere
3. Stratosphere
4. Troposphere

1)
(2)
(3)
(4)

3G ORe FrafeRed | | e Bl 87

1. 9Tgl agHS T (YHIREIR)
2. qgHsd
3. gHAIgHSd

4, ghisa

P W N =

(1)
(2)
(3)
(4)

H W N =

1[Option ID=43845] Question Description : dwbv_pg_gp36_eng_2_q37
2[Option ID=43846]
3[Option ID=43847]
4[Option ID=43848]

Sl. No.38
QBID:36201038

Given below are two statements:

Statement I: Millennium Development Goals (MDGs) were set to be achieved by 2030.

Statement I: Sustainable Development Goals (SDGs) were set to be achieved by 2015.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement 1l is correct.

(1)
(2)
(3)
(4)

A W N =

BRI

HU - | : FgIles faord T&a! (TH 2 off) 1 ¥ 2030 T UTW S I 76T TG 747 4T
DY - 11 : YR G dgdl (T8 St i) DI ad 2015 TP WK P DI 0&d 1@ Ul
Qe Byl & e H FEfiREd [dewedl § 8 9el SR 9 :

1. @Y | AR 11 GH Tl g
2. BT | AR I EF T B
3. @Y1 el e, g @y 1 7Tad & |
4. @Y | 7T &, g BUF 11 T8I B

(1)
(2)
(3)
(4)

A W N =




1[Option ID=43849] Question Description : dwbv_pg_gp36_eng_2_q38
2[Option ID=43850]
3[Option ID=43851]
4[Option ID=43852]

Sl. No.39
QBID:36201039

Official languages for International Solar Alliance are

A, Hindi

B. English

C. French

D. Spanish

E. Chinese

Choose the correct answer from the options given below:

1.A, B and Conly
2.B,Dand Eonly
3.B,Cand D only
4.B, Cand E only

1) 1
(2) 2
(3) 3
(4) 4

SFAIPIY YR €Y o Ay snfeiie e &:
A fe=it
B. 3isi
C. Wi
D. Wt
E. T
72 TGU 10 fged H 9 96l SR 24 :
1. DA A, B 3R C
2.®dc B, D AR E

3. Had B, C 3R D
4. BB, C ARE

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=43853] Question Description : dwbv_pg_gp36_eng_2_q39
2[Option ID=43854]

3[Option ID=43855]
4[Option ID=43856]

Sl. No.40
QBID:36201040




Match List I with List 1l

List | (Medium)

List Il (Disease)

A. Water borne |l Trachoma
B. Water washed |II. Malaria
C. Water basad  [lll. Cholera

D. Water related

IV. Schistosomiasis

a

(2)
(3)
(4)

Choose the correct answer from the options given below:

TA-ILE-LC-N.D-IV
ZA-NLB-1,C-IV,D-1
3A-LB-ILC-1,D-1IV
4A-1L,B-IV,C-1I,D-1

)

A W N =

Il -1 B Gl -1 W A B

1)
2)
(3)
(4)

gl -1 (FTeEE) 3t -1 @)

A, Tq-Sd |, ST

B. STd-fad |1, FcifeE

C. Sd-3MTed I

D. STd-Tafelt . FRreraiftaig
i e T fgmedt © ¥ we S g

TA-ILE-1,C-Nl, D-1V
2ZA-1LB-1,C-IV, D-1I
3A-LB-ILC-1, D-IV
4 A-1LB-IV,C-1lIl, D-1

A W N =

1[Option ID=43857]
2[Option ID=43858]
3[Option ID=43859]
4[Option ID=43860]

Question Description : dwbv_pg_gp36_eng_2_q40

Sl. No.41

1)
(2)
(3)
(4)

QBID:36201041

1. Cooperative learning
2. Conventional learning

3. Non-conventional learning

4. Play way learning

W N =

Which among the following is based on passive learning, where the child listens to teachers and follows directions from
them?




fFrofafed & © F Fferg st W el g, oo o= el & Gd1 & 791 3% gR1 768 T FE=1 BT ST sl
87

1. Qe Rl A
2. TR 3R
3. IR-uul@ e
4. 181 UGfa ™

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43861] Question Description : dwbv_pg_gp36_eng_2_q41
2[Option ID=43862]

3[Option ID=43863]
4[Option ID=43864]

Sl. No.42
QBID:36201042

Given below are two statements:
Statement I: It is said that in the early Vedic period, women had equal rights to get any type of education.

Statement II: In the last phase of Vedic period, as there were no separate gurukuls for girls of the age 12 years and above,
they could not receive higher education.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |1 are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

(1) 1
) 2
(3) 3
(4) 4

EIEEAK AR AR U
@Y - | : T8 HFI 11 § [a5 g4 dfc® ®ra § el & il il eR &1 a1 i 53 & 991 HHER 4

T - || : AT BT B e o H 78T W 12 99 Ud ITY TR B oG Bt el £ DS e oo Tal 4, SR I
I T2 UIed 981 @2 9l |

SUddd Byl & el H FEfiRad fasedl § 8 9el SR 3 -

1. @Y | AR 11 G Fal el
2.FYF | AR I GH AT B |
3. %Y1 el e, g @Y 1 TTad & |
4. Y| A &, fg PYT 1 TET B

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=43865] Question Description : dwbv_pg_gp36_eng_2_q42
2[Option ID=43866]

3[Option ID=43867]
4[Option ID=43868]

Sl. No.43
QBID:36201043




Given below are two statements:

Statement I: The Indian universities to reach global standards need sustained support for programmes in research and
development.

Statement |I: The "knowledge economy’, as envisaged by the Knowledge Commission, does not need government
involvement in higher education.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1)
(2)
(3)
(4)

A W N =

EEEDEA TS

@Y - | : 3P HHD! B U B 5y RGO [dfeerd! o sy iR [dor datdl aried! & U adq gq9d= ot
HIaHdl g |

HYH - || : FH AR gRI Bicdd FH- TR & &7 H Iod- el H WD HiHs1 B Haddhdl gl o
Iudad Yl & AP H FYfRad [deed! H U Ugl I 9

1. @Y | 3R 11 & T8l 8l
2. YT AR I GAI AT B |
2B I TR T, g BY 1 T |
4. YT | A &, fg T 1 TE B

1)
(2)
(3)
(4)

W N =

1[Option ID=43869] Question Description : dwbv_pg_gp36_eng_2_q43
2[Option ID=43870]
3[Option ID=43871]
4[Option ID=43872]

Sl. No.44
QBID:36201044

The recommendation that no student should be allowed to specialise in teaching a subject unless he had it in BA/B.Sc was
made by

1. The Yashpal committee

2. The Knowledge Commission

3. The Education commission (1964-66)
4. The N.R. Sarkar committee

(1)
(2)
(3)
(4)

A W N =




TE SR FEifed & 4 e e o 1 4t fod! off T8 o0 & o 0o [0 398 g8 o fimg S &y St ag @ 9 e &1, 39
IaH faf fra &1 erafd 6l 1 =i 2

1, TRaTe it

2. 1 SR

3. fRraf 3marT (1964-66)
4. TA.3R. IWaR gifg

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=43873] Question Description : dwbv_pg_gp36_eng_2_q44
2[Option ID=43874]

3[Option ID=43875]
4[Option ID=43876]

Sl. No.45
QBID:36201045

In its formative years, which university had taken to the strategy of adopting multi-media instructions through Gyan Vani
and Gyan Darshan?

1. Karnataka State Open university

2. Indira Gandhi National Open university
3. Dr. B.R. Ambedkar open university

4. Yashwant Rao Chavan open university

(1) 1
(2) 2
(3) 3
(4) 4

HUH RIS faBm & 9y aHIeE) H Faifed oH-4 fyfaerag 3 gmar ok 31 &2 & 219 4 7cdl-Hifsar sie
DI HUHTE S B BTG AR o 7

1. PAICD e qad fayfaag

2. gie witelt Ay e fagfaerea

3. Blacy 913N, 3 SH Had [ayfgaed
4. GIIGRTG Jodvl o fagfaeed

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43877] Question Description : dwbv_pg_gp36_eng_2_q45
2[Option ID=43878]

3[Option ID=43879]
4[Option ID=43880]

Sl. No.46
QBID:36201046




Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission technology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.

Frrafafas o ot ufew 9 uaf F 399 difom:

9 e 9 ol e THg | a7 10 g @ aRi & [ el 39 @A B UEa-ddd & Wiadiul & YN $d 38 ol
HIAaR @I SiE J Sfawi—ar § g 5999 SR B @ 3 Uh) & udas § 39 T H U6 491d & TR &1
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3P < Sigarg et Ul SRIFH Faagdel S G B & 7L Adibeuid ol &1 SR o 3§ § | Tl adAH o 3 St
Uq St 3o & 25-30 iR & oY f9ggd Sde StRer ¢l Adiarviig FHell $f sdfFled R yafd 1ol g B e &
oI SfiamA-2eH Sl Widl @1 8IS &1 3dli® ®ie- ¢! faEs- Uef@! & uan ardl URIR® €4 4 3diiad AeE SHell
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According to current estimates, power generation accounts for how much of the total GHG emissions on earth?

1. 10-15 percent
2. 25-30 percent
3. 40-45 percent
4. 50-55 percent

1) 1
(2) 2
(3) 3
(4) 4

TAHME BT B IR, U4l R $d ol Ud ol I H [9gdd 3dIed &1 IFGH fdhal g7

1.10-15 Wia=d
2. 25-30 Uidgd
3. 40-45 Wia=d
4. 50-55 Uid=d

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43881] Question Description : dwbv_pg_gp36_eng_2_q46
2[Option ID=43882]




3[Option ID=43883]
4[Option ID=43884]

Sl. No.47
QBID:36201047

Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission technology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.

Frrafafes i o ufer 9 ust & 3¢ difeme:

9 3@ U o e 9 ¥ IS 01 @Y § dRI & AU Sl SOd & B Ui al-Uadd & Uiddmul & U™ ad 18 &l
HaR DI SFRiPT H Siamiar H [RUd 43-d sHH BRIE @ o1z Th) & s 4 39 UaM H U Hid & U &
gIguN B11 ITH TH Y 1w Iaw B & [ &l Al o faoy a1 9o Ruaex 4 39 ufear H wgad el 9 1.5
U7 ST Sl I0F DI | Gora- @1 Widd SI T & 70 399 gd & Gt il &, Ruge] 5 304 Sl J S Sl Bl SUHAT
ToaT UT| IR aRIHD! &1 Be-l & [ BIAmI-a FaRTRIT H SRY 31 T3 54 Uhdl ®f ¢ t9H W aaq J opff sq 4 da ol
GRI® B THI R

quIfy gl i Gy et sa=gdasi ®i, Si.Tas. . HR ([@18) H 3iE 5 &1, SHui uaH & 31 Uil $1
Jde TR R T T & [T THSATEUD B 59 §51 @lel - Idioi &I o fear g1

D R wary YeH S SRy gEesdiel 1 O B & Y Al S 1 R o 8 §| FUI g0 H 3 st
Ug Sfl IcHeH & 25-30 WA= & fol faggd Idied SuRarl g1 Adidvig FHell @ sidi-ied iR upla &1 o ¢ fas oxf &
forg Sara-3 Ful Wil & 31 o1 AP Hie g1 fFds Menfia! & 7o arl tRuRe ¥U 4 Idifad e Sl
HUETPHA D s g WRg dAlad H 1986 H 3R BRI H 2011 H g3 geA13 A fads dfea a1 & YR & Jay o
iR 9y @3 fFu |

Given below are two statements:

Statement I: Energy produced in the sun and the stars is through fission.

Statement II: Energy produced through fission is relatively cleaner as compared to that from fossil fuels.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)1
(2) 2
3) 3
(4) 4




EERER SIS

@Y - |: 4 9 IRI H A9 Holl [desH & 71 U el o

Y - || : [aE S & A1 U Sdd ol oiarRH 389 3 W Sl &1 goHT H AU Was aidl ¢ |
Quddd B! &b el H FEfaRad fasedl # 8 9gl SR g :

1. YT | AR 11 T TEl B
2. @Y | AR 11 GF Tad g
3.1 el g, g @y 1 7Tad § |
4. @Y 1 TAd 8, g I 1 T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43885] Question Description : dwbv_pg_gp36_eng_2_q47
2[Option ID=43886]

3[Option ID=43887]
4[Option ID=43888]

Sl. No.48
QBID:36201048

Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission technology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.
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Scientists have been trying to produce energy through fusion for

1. The last 20 years
2. The last 40 years
3. The last 50 years
4. More than 90 years

1) 1
(2) 2
3) 3
(4) 4

e o Fafoied & € fha ouf @ S99 & 9199 T el Iy o3 &I Ja8 IR 3R 87

1.fa@ 20 a9
PRCUGPIEL]
3. fgma so ad
4. famd oo a9

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=43889] Question Description : dwbv_pg_gp36_eng_2_q48
2[Option ID=43890]

3[Option ID=43891]
4[Option ID=43892]
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Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission technology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): Several countries of the world are moving towards renewable energy sources for their development needs.
Reason (R): The renewable resources of energy are of stable nature.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. [A) is not correct but (R) is correct.

1) 1
) 2
3) 3
(4) 4




TR RUTE: 0@ 31 HYSYT (4) IR TR &I T (R) FeT T8

SUFHYT (4) : TY T 3P ¢ 0] [Ty U smaxamarsi & o Fdiemuia ol @idl &f 3R 5136 3l
TH (R) : ol & FAIBRUNT TWid (R g & Bid &

Suad Bl & 3D # Fgifed fabeal H ¥ 98 3w 9+ -

1. () 3R (R) T HET & 3R (R), (A) BT & ARAT B |
2. (A) 3R (R) ST TET & T (R), (A) BT Tel ST el 21
3. (A) W81 § W (R) Wel T &1
4. (A) 981 181 8 3G (R) Bl B
(1)1
2 2
(3) 3
4) 4

1[Option ID=43893] Question Description : dwbv_pg_gp36_eng_2_q49
2[Option ID=43894]
3[Option ID=43895]
4[Option ID=43896]

Sl. No.50
QBID:36201050

Read the passage and answer the questions that follow:

For more than nine decades scientists have tried to replicate the process that produces energy for the sun and stars-fusion.
On Tuesday, researchers at the National Ignition Facility (NIF) in California, USA, announced a milestone in this endeavour.
They merged two nuclei to produce a heavier nucleus. Their reactor produced about 1.5 times more energy than what was
used in the process. In all the earlier attempts to harness the power of fusion, the reactors used up more energy than what
was produced. But scientists say that it will be at least two decades before the process pioneered in the California laboratory
can be scaled up. Even then, in a world desperately searching for technologies that can power the developmental needs of
nations adding to the GHG load, the break-through at NIF has generated excitement.

Several countries are shifting to renewable energies to meet their international climate-related commitments. Yet, power
generation currently is responsible for 25-30 percent of global GHG emissions. The inherently unstable nature of renewables
means that countries find it very difficult to jettison fossil-fuel energy sources. Conventionally-produced nuclear energy-that
uses fission technology-is relatively cleaner. But accidents at Chernobyl in 1986 and Fukushima in 2011 have raised serious
questions over the safety of fission-powedered plants.
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For every 100 units of energy consumed in the process of fusion, the National Ignition Facility in California was able to

produce how many units of energy?

1.50
2.100
3.125
4. 150

(1)1
) 2
3) 3
(4) 4

Yag @1 Wisedl H Uid 100 g &1 Sl Wud J diibi a1 Rud "=Hd soRE warRe RafaRed | 9 fea ghe Sl
IAA P : o7

1.50
2.100
3.125
4. 150

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=43897] Question Description : dwbv_pg_gp36_eng_2_q50
2[Option ID=43898]

3[Option ID=43899]
4[Option ID=43900]

Paper II : 10-Social Work

sl. No.1
QBID:110001

The Indian Social Work Congress is organized every year. It is an initiative of :

1. Government of India — Ministry of Social Justice and Empowerment
2. National Association of Professional Social Workers in India
3. Tata Institute of Social Science
4. Central Social Welare Board
) 1
(2 2
(3) 3
4) 4

YR JATS B T SO TS gy ifoTd &t ikt & | 98 Feifed 7 9 fhaat ygd g 2

1. HRd DR & GHISIS 1 U S(fe1idl Hared
2. HRd H oqayiiie FH1ioes SRl BT AT THIRTUR (NAPSWI)
3. eTel HISTeh fa9i R

1[Option ID=44301] Question Description : social_work_social work_set1_english_q1
2[Option ID=44302]
3[Option ID=44303]
4[Option ID=44304]
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After the Second World War in England. William Beveridge published a report generally known as ‘Beveridge
Report’. Its name was :

1. Social Work and Social Insurance

2. Social Insurance and Allied Services
3. Social Assistance by the Governments
4. Health Insurance and Social Reform
11

) 2

(3) 3

4) 4

fadia faygs & a1e. $ids # faferm 99 7 9afks RUid & @ § S o aredt te Rard ussiird fbarn
T | DT AT AT -

1. 9IS 9 U3 GIRd 3908y
2. I 3AURY U8 UdEs gifads
3, I R 918 ¢ a-He
4.%@333{i iﬂﬁgmﬂalw
(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=44305] Question Description : social_work_social work_setl_english_q2
2[Option ID=44306]
3[Option ID=44307]
4[Option ID=44308]

Sl. No.3
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The first edition of “Encyclopedia of Social Work in India™ was published by

. Ministry of Education

. Ministry of Social Welfare

. Planning Commission

. Central Social Welfare Board
1

() 2

3) 3

(4) 4

<TG T ST 36 IR b 34 S1Sa1” & WUH HEHU] Pl [hadh gRT BT ST TR A7 2

LV I O B

B

1. Frequr Hareg
2. gTHINS ST HATdd
3. IS AT
4. S5 IHEINS S0 9IS
1) 1
(2) 2
3) 3
4) 4

1[Option ID=44309] Question Description : social_work_social work_set1_english_q3
2[Option ID=44310]
3[Option ID=44311]
4[Option ID=44312]
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The first charity organization society was founded in :

. England in 1869
. England in 1877
. Chicago in 1869
. Buffalow in 1878

L D

I




1) 1
(2) 2
(3) 3
(4) 4

g =R efTAEeRE el & Agifed fog o 7 wnfud fear marar o

1,99 1869 H, 3cis A
2. a4 1877 H, 38 A
3.9y 1869 H, Ri&nn A
4.99 1878 H, ¥hal §

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=44313] Question Description : social_work_social work_setl_english_q4
2[Option ID=44314]
3[Option ID=44315]
4[Option ID=44316]
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Which of the following is not a structural feature of caste system highlighted by Ghurye?

. Segmental division

. Proper accommodation

. Hierarchy

. Lack of choice of occupation
1) 1

() 2

(3) 3

(4) 4

Sifd saed] @1 (afeiiRad # 9 HiF-Hi Ub SRS (=191 gk gRI1@ifdbd Tal P15 6 2

1. W3 faHeH

2. SWIRI HIG
3. Ue-giuH
4. 09U & 94 &I AHG
1) 1
2) 2
(3) 3
(4) 4
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1[Option ID=44317] Question Description : social_work_social work_setl_english_q5
2[Option ID=44318]
3[Option ID=44319]
4[Option ID=44320]

Sl. No.6
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A set of norms and values that distinguish a group from the larger society is known as a ;

. multi-culture
. subculture

. patriarchy

. Personality
1) 1

() 2

(3) 3

4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=44321] Question Description : social_work_social work_setl_english_q6
2[Option ID=44322]

3[Option ID=44323]
4[Option ID=44324]

Sl. No.7
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Robert Merton explained social function as :

A. Manifest function

B. Reflective function
C. Imagery function

D. Latent function

E. Comparative function

Choose the correct answer from the options given below :

1. A, Band C only
2.B.Dand E only
3. Aand D only
4. B and E only

1) 1

(2) 2

3) 3

(4) 4

¢ A - ISP bR @l 39 ¥4 H ARSd [Har g

A. ¥ YR (HHHR)

B. [d9%® Ul (Rudfdea)
c. [Safdum™ yard GH)
D. 3e0dd Uy (dlee)

E. Ja-Id® U (@HRIea)

i fau 7T fah el § 9 el 3R &I 99+ BT |

1.hdd A, B, C
2. %dd B, D 3R E
3. HFAAdASMRD
4. PAAB 3R E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=44325] Question Description : social_work_social work_setl_english_q7
2[Option ID=44326]
3[Option ID=44327]
4[Option ID=44328]
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Who has used the term ‘primary group’ to a small association of people connected by ties of an emotionally
involving nature?

. Tonnies
. Cooley

. Giddens
. Siddiqui
1)1

) 2

(3) 3

(4) 4

frafead # 9 {69 HigTTd® U 9 Ydg YPid d1d dei gR1SS gU il & U oY 94 g ‘HIufHe
Tig’ Ted Dl Ygad fharg 2

1. eHM
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-
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=44329] Question Description : social_work_social work_setl_english_q8
2[Option ID=44330]

3[Option ID=44331]
4[Option ID=44332]

Sl. No.9
QBID:110009

Whose motto was ‘help without alms’?

. Octivia Hill

. Mary Richmond
. FriedLander

. Biestek

(1) 1

(2 2

3) 3

4) 4

gt 3mexl ara e & {91 Sgraar U1 2

1. 3fffaefaar fga
2, Wi R
REEGEG)

1) 1

2) 2

3) 3

(4) 4
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1[Option ID=44333] Question Description : social_work_social work_setl_english_q9
2[Option ID=44334]
3[Option ID=44335]
4[Option ID=44336]
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A group to which people may feel they ‘belong’ even if they are not actually members, is known as :

. In group

. Formal group

. Reference group
. Primary group

L b =

=




1) 1
(2) 2
(3) 3
(4) 4

U U1 g ST @ 39 SSTa° T AgHd dd 6, Sdid d dRdidd &9 J 39 ged HI g1 gid @,
SHUBR & GHg 34 Y H oH 9ld § :

1. 3fc: IHg

2. JIYATR® g
3. He gg

4. gruffid gHg
1) 1

2) 2

(3) 3

(4) 4

1[Option ID=44337] Question Description : social_work_social work_set1_english_q10
2[Option ID=44338]
3[Option ID=44339]
4[Option ID=44340]

Sl. No.11
QBID:110011

Douglas has classified group process as :

Molar
Basic and Molar
. Basic, Structural and Molar
4. Basic, Structural, Locomotive and Molar
1 1
2) 2
(3) 3
4) 4

ST H AH[e® UichaT3il &l aviidhd 1ol g -

1. 9aqvi® (HIeR)

2. IR Td 9aui® (AR)

3. AR, WRIAAS Ud Javis (HITR)

4. 4%, WIS, dibHIfed Ud 9auid (HIeR)

(1) 1
(2) 2
(3) 3
(4) 4

1
2
3

1[Option ID=44341] Question Description : social_work_social work_set1_english_q11
2[Option ID=44342]
3[Option ID=44343]
4[Option ID=44344]
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Which of the following is not an approach of community organization?

. Specefic content approach
. General Content approach
. Process approach
4. Inner resource approach

1

2) 2

3) 3

(4) 4

1
2
3




Fafeiad ® ®19-91 QHeiRie W61 61 U JURTH 81 ¢ 2
1. fafRry siddyg Iur™

2. G Sidd¥d IUFTH
3. Qi T 39

4. TR G IJURH
)1
2 2
3) 3
(4) 4

1[Option ID=44345] Question Description : social_work_social work_set1_english_q12
2[Option ID=44346]
3[Option ID=44347]
4[Option ID=44348]

Sl. No.13
QBID:110013

The principles of Social Action proposed in the text “Social Work and Social Action™ are derived from the
methodology used by :

1. Mahatma Gandhi

2. Babasaheb Ambedkar
3. Paulo Freire

4. Martin Luther King Jr.
1) 1

(2) 2

(3) 3

4) 4

“ 1Ll db TUS HILel TR AHS Y H U fbT T qrHA1sies fobam b1 Riid fbds gRIugi
AT 2

1. QT et
2. FEMNTEY SHdSH
3. UI3dl e
4, \IFEA R 91 R
1 1
(2) 2
3) 3
4) 4

1[Option ID=44349] Question Description : social_work_social work_set1_english_q13
2[Option ID=44350]
3[Option ID=44351]
4[Option ID=44352]

Sl. No.14
QBID:110014

‘Who among the following is not close to ‘conflict perspective” of community work?

Paulo Freire
. M.G. Ross

. Saul Alinksy
. B. Mullaly
11

2 2

3) 3

4 4

L D =

.
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1[Option ID=44353] Question Description : social_work_social work_set1_english_q14
2[Option ID=44354]
3[Option ID=44355]
4[Option ID=44356]

Sl. No.15
QBID:110015

Which of the following does not contribute to the principle of credibility building?

1. Gesture of goodwill towards the opponent
2. Example - setting

3. Selection of typical/urgently felt problems
4. Political support

1) 1

(2 2

3) 3

(4) 4

fAfalRaa o 9 oF 9y e & Rigid § are = Tot dar g 2

1. fauelt & uid YaH1d &1 Hid

2. 3EIERUI-UId PR

3. fafRIy / saxgs AgYy &1 T3 e &1 =994
4. ToHITa® gadq

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=44357] Question Description : social_work_social work_set1_english_q15
2[Option ID=44358]
3[Option ID=44359]
4[Option ID=44360]

Sl. No.16
QBID:110016

In instruments with multi item scales, the tendency of respondents to choose the same rating without
differentiating responses is called

. Halo effect

. Generalization
. Homogenity

. Replication
(11

(2) 2

(3) 3

4) 4

b b —

.




dg-1¢ JAM drd Sxdidel H, IRardrs &1 Wkl &1 fave fhu femgamRidn s aaadivald
Hedldl o |

1. YHHSd (g UH1d

2. AR

3. 9JHIId

4. EII?@ d

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=44361] Question Description : social_work_social work_set1_english_q16
2[Option ID=44362]

3[Option ID=44363]
4[Option ID=44364]

Sl. No.17
QBID:110017

is a qualitative method for gathering data that involves developing a sustained relationship with
people while they go about their normal activities :

1. Interviewing

2. Focus group discussion
3. Participant observation
4. Interview schedule

1) 1

2) 2

3) 3

(4) 4

3PS THAHRU 5 U UMD fafel ¢ dl Uad UbR & Jaef fadh g - drel anll & gieferd
DRl © Od d U JH fehardhardl H @i 3gd g |

1. FIETEHR BT
2. Bisd g ==l
3. GEHIT e
4. HIThR - 3Gl
1) 1
(2) 2
3) 3
4) 4

1[Option ID=44365] Question Description : social_work_social work_set1_english_q17
2[Option ID=44366]
3[Option ID=44367]
4[Option ID=44368]

Sl. No.18
QBID:110018

In order to receive financial grants from foreign sources a voluntary organization needs to be registered under the
Act:

1. Income Tax Act 1961
2. Foreign Contribution and Regulation Act (FCRA) - 2010
3. FEMA (Foreign Exchange Management Act) — 1999
4. Finance Division
1
(2) 2
(3) 3
4 4




et wafeya Wira g fae=it Sl § fa<ha wgrar urd a7 & fae 39 fow sifafam & siafa dofigd
BT S{TaYD § 2

1. 3B AUTH 1961
2. fac=it aireM vd Faae sifafqga (@@ O 3R U) - 2010
3. BT (o= fafaa yde= i) - 1999

1[Option ID=44369] Question Description : social_work_social work_set1_english_q18
2[Option ID=44370]
3[Option ID=44371]
4[Option ID=44372]

Sl. No.19
QBID:110019

The goal of is to elicit how participants feel about the topic and to identify the range of
perspectives regarding it, irrespective of obtaining group consensus :-

1. Community Forum
2. Community Surveys
3. Naturalistic observation
4. Focus group
1) 1
2 2
3) 3
4) 4

o1 @6 ufaurt favg @fa®) & IR J HUT 24T Fd €. 39D by FAdpra ud agg &1
HAqmEfd U SR BT A bt {81 39 T | ufaviedi ot T (o7 &1 a1 s g |

1. IS BRA (d)

2. GHaIad &
3. WGTHIAEH V&
4. Di<d gig

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=44373] Question Description : social_work_social work_set1_english_q19
2[Option ID=44374]
3[Option ID=44375]
4[Option ID=44376]

Sl. No.20
QBID:110020

What is the minimum number of people required to register an organization under Societies Registration Act ?

Ju I D =
WO =1 b

1)1
(2) 2
(3) 3
(4) 4




HIERIC Ui S & dgd fhdl U W16 & Usiinrvl gq AdH fdd- divl i sfia<aehdi gidl o

S VI O TS
O =] a2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=44377] Question Description : social_work_social work_set1_english_q20
2[Option ID=44378]

3[Option ID=44379]
4[Option ID=44380]

Sl. No.21
QBID:110021

‘Whose name is associated with POSDCORB?

1. M.G. Ross

2. Grace Coyel

3. Luther Gullick

. Friedlander W.A.
(1) 1

(2) 2

3) 3

(4) 4

URS®id (U o T S1 1 3l 3R &) & "1y fhddt 9 dda g 2

1. TS I
2. U HITA
3

QR Tfe
4. SR S&Y U
(1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=44381] Question Description : social_work_social work_setl_english_q21
2[Option ID=44382]
3[Option ID=44383]
4[Option ID=44384]

Sl. No.22
QBID:110022

Which one of the following organizations is recognized as “Not for Profit” organizations?

1. Corporations
2. Farmer's producer's company
3. Company u/s 8 of Indian Companies Act 2013
4. Micro Credit Group
(1) 1
2) 2
3) 3
(4) 4

fAafeRad el & O {68 SraryeRI W6 & 9 H J-0d U § 2
1. BIORYE

2. PYD IAIGP DUl
3. HRAIG ST HFTA, 2013 DT 4RT8 & 317efi DUt

4. g&H ANE 9




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=44385] Question Description : social_work_social work_set1_english_q22
2[Option ID=44386]

3[Option ID=44387]
4[Option ID=44388]

Sl. No.23
QBID:110023

In the latest Human Development Report (HOR) 2020/2021, India ranks 132 out of 191 countries and territories.
Which means, the Human Development Index (HDI) value have registered in comparision to
HRD 2019.

1. sharp increase
2. minimal increase
3. sharp decline
4. minimal decline
1) 1
(2) 2
3) 3
) 4

TdaH Ad fasry RAid 2020/2021 H, HRA B 3& 181 <201 3R & § 132 8, A4 fderg Rgid 2019 &t
g1 H A4 [dbT8 Yadbic (TES19M18) & A H CREIRIGIE

1. da g
2. 3 gl
3. dig g™
4. 3T BN

1) 1

() 2

(3) 3

4) 4

1[Option ID=44389] Question Description : social_work_social work_set1_english_q23
2[Option ID=44390]
3[Option ID=44391]
4[Option ID=44392]

Sl. No.24
QBID:110024

Planning Commission has been renamed as NITI Aayog. The abbreviation of NITI is

. National Initiative for Transforming India
National Institute for Technical Initiatives

. National Institution for Transforming India

. National Institute for Technical Interventions

1) 1

(2) 2

3) 3

) 4

IS SR BI A 41T & F9 § g faa e 1 Hifa (T F1 HeaeR ©

AR SHIRNfed wi ciaw RIET gfsar
AT S BR Chidhd SIRIEfeH
AR IREEI BR BT Sfsar
AR SLIEIC BR ChiAhd geXd-<-4
1) 1

) 2

(3) 3

(4) 4

L I

I

L R e R

B

1[Option ID=44393] Question Description : social_work_social work_set1_english_q24




2[Option ID=44394]
3[Option ID=44395]
4[Option ID=44396]

Sl. No.25
QBID:110025

Residual Welfare Model of Social Policy is one of the models of social policy given by :

. R.M. Titmuss

. P.D. Kulkarni

. Arthur Dunham
. T.H. Marshall
1) 1

2) 2

3) 3

4) 4

TSI il 1 TG DAUDHRI Alsa’ FHfcRad & § fhgd gRI el T g ifd & wredl §
AThe?

1. 3R.UH. feeHy

2. ULl peauil
3

3R 8gH
4. 10T, AR

1)1
(2) 2
(3) 3
(4) 4

L I =

.

1[Option ID=44397] Question Description : social_work_social work_set1_english_q25
2[Option ID=44398]
3[Option ID=44399]
4[Option ID=44400]

Sl. No.26
QBID:110026

Mahatma Gandhi National Rural Employment Guarantee Act guarantees 100 days of employment to those :

. who are willing to work as labour

. Who are unemployed and residing in rural areas

. who voluntarily register to do unskilled work at a specified wage
. who are landless labour

1) 1

(2) 2

3) 3

(4) 4

g%mﬁ%ﬁr@aﬂmﬁwma{f@rﬁﬂnﬁaﬁf@ﬁﬁﬂmﬁ 100 Te=T1 & ASHTR @1 TRET Ua&T Bl

1. 51 4% & U H B B Bl 381390 © |
2. ST @RISR & 31R UTHI0T &1 § ¥8d g |
3. forgH [AfEa T R e 1 B & o7 Wwd1 U Yool [hargan e |
4. S YR 9ffE g |
1 1
(2) 2
3) 3
(4) 4

L I =

.

1[Option ID=44401] Question Description : social_work_social work_set1_english_q26
2[Option ID=44402]
3[Option ID=44403]
4[Option ID=44404]

Sl. No.27
QBID:110027




In which of the Five Year Plan, the ‘“Minimum Needs Programme’ was launched?

1. Fifth Five Year Plan

2. Fourth Five Year Plan
3. Third Five Year Plan

4. Seventh Five Year Plan
1) 1

2) 2

(3) 3

4) 4

e # 9 food deraiiy a1 & Sl <A STadhdl SIS H’ DT THRH G 4T 2

. . of
1. UdH YdayIyg glvi-]
2. g deaify gre
3. galid d=aniy gisHn
4. FeTH GeaSIg AISHT
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=44405] Question Description : social_work_social work_set1_english_q27
2[Option ID=44406]

3[Option ID=44407]
4[Option ID=44408]

Sl. No.28
QBID:110028

The report “State of Children in India™ is prepared and published by

. UNICEF

National Commission for Protection of Child Rights

4. National Institute of Public Cooperalion and Child Development
1) 1

(2 2

3) 3

(4) 4

“YRd J F1d@! 3I Rl (¢ 3iTh faee 34 sfean Widded Fyfatad d O foue gR1 daR vd UHIiRa
[CRRIE I

1. Ministry of Social Justice and Empowerment
5
3

1[Option ID=44409] Question Description : social_work_social work_set1_english_q28
2[Option ID=44410]
3[Option ID=44411]
4[Option ID=44412]

Sl. No.29
QBID:110029




The Green Social Work is related to Social Work responses to the environment, climate change and its related
issues. The concept is propagated by

1. Medha Patkar

2. Lena Domenillee
3. Neera Chandolke
4. Katherine Kendall
11

() 2

(3) 3

4) 4

g JHIS 1, GaR vl STedig URdd- Ud 399 Hdidd Hel & ufd gAe S/l sifshadl 9 Gdfid g 139
YR DI FRfIRId H 8 fooa wanied fhan g 2

1. BT gIehr
2. @ SEEE
3. ARTdSI®
4. U bsd

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=44413] Question Description : social_work_social work_set1_english_q29
2[Option ID=44414]
3[Option ID=44415]
4[Option ID=44416]

Sl. No.30
QBID:110030

A comprehensive scheme for the prevention of trafficking and rescue, rehabilitation and re-integration of the
victims of trafficking for commercial sexual exploitation is known as :

Mission Shakti
Jjjawala

Nirbhaya Fund
4. One Stop Centre

(11

(2 2

(3) 3

(4) 4

G4 o1 QY0 g goATUR & YifSdl I I AbyUT qUT §91d Y-7d1g Ud G1:Uhih] & iy
AP Aol DI Y Y F SH SIar @ -

1. faeH wfeg
2. Isddl
3. T By
4. 99 €9 g
1) 1
) 2
3) 3
(4) 4

1.
2.
3.

1[Option ID=44417] Question Description : social_work_social work_set1_english_q30
2[Option ID=44418]
3[Option ID=44419]
4[Option ID=44420]

Sl. No.31
QBID:110031




Epidemiology is the study of the origin, distribution and means of transmission of disease in :

1. Individuals

2. Abnormal persons
3. Populations

4. Older persons

1) 1

() 2

3) 3

(4) 4

AemRI-fagE # FyfaRad 9 9 fog o I &1 Idf, Bag 2R YaR & ieEl &1 9| f[Bar Srdi g 2
1, faqal IR

2. M Afgdal TR
3. OHEEI Y

4. 3 Afwgl 1R

1) 1

2) 2

3) 3

4) 4

1[Option ID=44421] Question Description : social_work_social work_set1_english_q31
2[Option ID=44422]
3[Option ID=44423]
4[Option ID=44424]

Sl. No.32
QBID:110032

Mudaliar Committee, 1962 is known as :

1. Health Survey and Planning Committee
2. Establishment of UGC Committee
3. Banking Sector Reforms Committee
4. Tax Structure Reform Committee
1) 1
2) 2
3) 3
(4) 4

e eaR T, 1962 B FAUfRId U H SHEISTAr g -

1. TR &l Uq RIS aidfd
2. ol RITaT HiHfd
3. b1 &1 GUR FAf
4. B GEET YR [iAfa
o 2
(3) 3
(4) 4

1[Option ID=44425] Question Description : social_work_social work_set1_english_q32
2[Option ID=44426]
3[Option ID=44427]
4[Option ID=44428]

Sl. No.33
QBID:110033

Which of the following is the core beneficiary of Atal Vayo Abhyuday Yojna?

. Senior Citizens

. Persons with Diability
. Transgender Persons

. Youth

1

(2 2

L I =

.




3) 3
(4) 4

"3fed adl ey Aol &1 WHE arHil Fafeiea # g g 2

1. ARE qMiR®
2. feaai aafad
3. TiYoigr oHfad
4.4l

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=44429] Question Description : social_work_social work_set1_english_q33
2[Option ID=44430]
3[Option ID=44431]
4[Option ID=44432]

Sl. No.34
QBID:110034

Which is the first country in the world to make Corporate Social Responsibility legally mandatory?

1. United States of America
2. Australia

3. India

4. China

(1) 1

(2 2

3) 3

4) 4

3% &1 98 Ugdl <X &1 IT g o HaRe YHIiSie 3R Sifda &l fafds ¥ ¥ sifHard s g 2

1. Hgad ST SHRDT
. SRS e

HRd
ElE!

[V ]

4.
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=44433] Question Description : social_work_social work_setl_english_q34
2[Option ID=44434]

3[Option ID=44435]
4[Option ID=44436]

Sl. No.35
QBID:110035

Which Article of the Constitution of India provides for the reservation for Economically Weaker Section in
admission to Central Government educational institutions?

. Article 15

. Article 15 (6)
. Article 16
Article 16 (4)
1

(2 2

(3) 3

) 4

W I

.




YR HGUT BT B T 3fwe dex DR DI Aaiforep Fearsi 7 4w gq oA1fdd &9 3 HASR 71 &
1T SREMT HEH FRAT & 2

1)1

(2) 2

3) 3

(4) 4

1[Option ID=44437] Question Description : social_work_social work_set1_english_q35
2[Option ID=44438]

3[Option ID=44439]
4[Option ID=44440]

Sl. No.36
QBID:110036

The Universal Declaration of Human Rights was adopted in :

. 1966
. 1942
. 1948
. 1941
1 1
(2) 2
(3) 3
(4) 4

AFAIHR & TraHH Twon &7 2fieR fog ad fear Ty >

. 1966
. 1942
. 1948
. 1941
1) 1
(2) 2
(3) 3
4) 4

b I

I

LI I o

=

1[Option ID=44441] Question Description : social_work_social work_set1_english_q36
2[Option ID=44442]
3[Option ID=44443]
4[Option ID=44444]

Sl. No.37
QBID:110037

India does not have a national law for

1. Transgenders
2. Refugees
3. Immigrants
4. Child Labour
(1) 1
(2) 2
(3) 3
(4) 4

YR H Fafafed & 9 ey fau i S 81 8

1. Tigsiex

2. TRomeff

3, 3yaryl

4. SIAYH
(1) 1




(2 2

3) 3

(4) 4

1[Option ID=44445] Question Description : social_work_social work_set1_english_q37
2[Option ID=44446]

3[Option ID=44447]
4[Option ID=44448]

Sl. No.38
QBID:110038

What does the term ‘SHE-BOX imply?

. Simple Complaint Hearing email Box
. Sexual Harrassment Electronic Boxer
. Sexual Harrassment Electronic Box

. Social Hearing Electronic Box

(1) 1

(2) 2

(3) 3

4) a4

Q- ST (SHE-BOX) &7 SHTd &3di g2

1. Fd e fgalaT s Od 9l
2. YRI3AA GRTH< A FaaR
3. YRGS RIHC gAdCl b diad

4. G {5 e i-Ish diqg

1)1
(2) 2
(3) 3
(4) 4

[ T o

.

1[Option ID=44449] Question Description : social_work_social work_set1_english_q38
2[Option ID=44450]
3[Option ID=44451]
4[Option ID=44452]

Sl. No.39
QBID:110039

Gram Sabha of the Panchayats has been defined by Indian Constitution in

1. Part IX
2. Part X

3. Part VIII
4. Part IV

1) 1
(2) 2
(3) 3
4) 4

YR Sfaem & foog 4T § damadi &1 918 941 1 9RHIRd foear T g2

CHITIX
CHITX
. HIIT VIII
CHIOTIV

(1) 1
(2) 2
(3) 3
4) 4

b b =

I

1[Option ID=44453] Question Description : social_work_social work_set1_english_q39
2[Option ID=44454]
3[Option ID=44455]
4[Option ID=44456]

Sl. No.40
QBID:110040




The Protection of interests of minorities is provided by the Indian Constitution as part of -

1. Cultural and Education Rights (Art.29)
2. Right to Freedom of Religion (Art.25)
3. Right Against Exploitation (Art.23)
4. Right to Freedom (Art.19)

1) 1

) 2

3) 3

(4) 4

YR TG gRT eeaieid! & fedl &1 SRer HafaRad 7 9 foad v & w0 § ueH fhar mn g2

1. Fikepie Td e deieh oifdPR (3rd=9g 29)
2. YT TAdl B AUDPR (e 25)
3. XMY0T & faeeg HUDR (3w 23)
4. AAd1 DI HYDBR (TG 19)
1 1
2) 2
3) 3
(4) 4

1[Option ID=44457] Question Description : social_work_social work_set1_english_q40
2[Option ID=44458]
3[Option ID=44459]
4[Option ID=44460]

Sl. No.41
QBID:110041

Ayushman Bharat Pradhan Mantri Jan Arogaya Yojana is :

A. National programme of public health

B. To provide free access to health insurance
C. To cover low income earners

D. Based on the principles of social insurance

Choose the most appropriate answer from the options given below :

1. A, C and D only
2. A, Band C only
3.B,Cand D only
4. A, Band D only

1)1
(2) 2
(3) 3
(4) 4

TGS HRA TTTHAT ST R IoiT :

A. TP AP WA BRIHH ¢

B. FRIew e €1 a% Ugd WeH el §
C. 14 o urshdisn 1 QA S
D. FHTH ST FEgid IR S1eRd §

i< faU 7T fash el # I T8 U] IR DI 94 Hifog|

1. $dd A, C 3R D
2. HAAA, B AR C
3.$%dd B, C 3R D
4. BIAA. B3IRD

1) 1
() 2




(3) 3
(4) 4

1[Option ID=44461] Question Description : social_work_social work_set1_english_q41
2[Option ID=44462]
3[Option ID=44463]
4[Option ID=44464]

Sl. No.42
QBID:110042

Social Reform can be characterized as :

A. Movement against any social evil/social problem
B. Restructing or changing the existing system

C. Maintaining the existing structure or system

D. The presence of strong leadership

Choose the correct answer from the options given below :

1. A, B and C only
2. A,Band D only
3. A, Cand D only
4.B, C and D only

(1) 1

) 2

(3) 3

(4) 4

HHISTD YR BT FRE-FEor Fafiiad w9 | fear o gadr g

A. T g mmfsd §RI5/AmISS que & [dos sfiald
B. [ SUa=T 1 GIARET I1 YRac Bl

C. faerAM G3=-1 971 a1 DI S8 3@

D. R -Iqcd DI JulRUfd

i< faU 7T fash el # 9 T8 U IR Bl 94 Hifou |

1. PAAA. B3R C
2. %Had A, B3R D
3. HAA A, C3ARD
4. $GdA B, C 3R D

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=44465] Question Description : social_work_social work_set1_english_q42
2[Option ID=44466]
3[Option ID=44467]
4[Option ID=44468]

Sl. No.43
QBID:110043




The four pillars of the Decent work promoted by International Labour Organisation (ILO) are :

A. Employment creation
B. Workers rights

C. Trade unionism

D. Social protection

E. Social dialogue

Choose the correct answer from the options given below :

.A, B, CandD only
.A,B.Dand E only
.B, C, D and E only
.A, B, C and E only
1) 1
2) 2
(3) 3
(4) 4

SIRITBTY YH TS (3175 T 31 GRI A R PA S IR THE -

A. TSR ol
B. 4f&1 & 3fIPR
C. 4t Y4arg
D. GrHIfSTh HRET0T
E. Q1R ardl

i fou 7T fah el § 9 Yl 3R &I 99+ Hifou|

1.%dd A, B, C 3R D
2. %dd A, B, D 3R E
3. $had B, C,D 3R E
4. BIAA. B, C 3IRE

1)1
(2) 2
(3) 3
(4) 4

b I =

.

1[Option ID=44469] Question Description : social_work_social work_set1_english_q43
2[Option ID=44470]
3[Option ID=44471]
4[Option ID=44472]

Sl. No.44
QBID:110044

What are the key elements of good governance of voluntary organization?

A. Participation

B. Accountability

C. Transparency

D. Scientific Management
E. Replicability

Choose the correct answer from the options given below :

. A, B, CandD only
.B, C, D and E only
.A, C.Dand E only
. A, B, C and E only
1) 1
(2 2
3) 3

L I =

.




(4) 4

w5 YTEH1 & YRMEH & YA awd HyiaiRdd § 4 &H g2

i< fau U f[ds el § O 98l IR &1 904 Hifoiw

1. HAd A, B, C 3R D
2. %ad B, C,D 3R E
3. Hdd A, C.D 3R E

1[Option ID=44473] Question Description : social_work_social work_set1_english_q44
2[Option ID=44474]
3[Option ID=44475]
4[Option ID=44476]

Sl. No.45
QBID:110045

Who were the advocates of Social Darwinism?

A. Karl Marx

B. Herbert Spencer
C. August Comte
D. W.G. Sumner

Choose the correct answer from the options given below :

1. Aand C only
2. A, Band C only
3.B and C only
4. B and D only

1) 1
(2) 2
(3) 3
(4) 4

g STfddie & geer oI 42

A BT AT
B. §6c W
C. 3RC Pic

D. S&cg Sl GHTR
i< fau U f[d el ¥ U Gl IR &I 98- Hifou|

1. FaA A 3R C
2. HAA A, B AR C
3. HFAAB IR C
4. HGdA B 3R D

1) 1
() 2




3) 3
(4) 4

1[Option ID=44477] Question Description : social_work_social work_set1_english_q45
2[Option ID=44478]
3[Option ID=44479]
4[Option ID=44480]

Sl. No.46
QBID:110046

Family therapy is a collection of therapeutic approaches that include :

A. Re educative sessions

B. Individual counselling

C. Family and couple counselling
D. Group therapy

E. Cognitive Behaviour therapy

Choose the correct answer from the options given below :

. A, B, CandD only
.A, B, CandE only
.B, C, D and E only
.A, C.Dand E only
1) 1
) 2
3) 3
(@) 4

iikaie ffeer @it 2edh) ffewia Surm! &1 dead ¢ o Fafafad afiasid g -

A. GARIEIS T

B. S aITd TRTART

C. URaR Td e wRmwei
D. 9¥fe i

E. 93HIdS gdeR

b I =

.

.

i< faU T fash el & 9 T8 Iugdd 3R DI 94 Hifog|

1.HIA A, B, C 3R D
2. $dd A, B, C 3R E
3.%dd B, C, D 3R

1[Option ID=44481] Question Description : social_work_social work_set1_english_q46
2[Option ID=44482]
3[Option ID=44483]
4[Option ID=44484]

Sl. No.47
QBID:110047




Bronfenbrenner’s Ecosystem model consists of different environmental layers that influence the development of
the child

A. Microsystem
B. Mesosystem
C. Megasystem
D. Exosystem
E. Macrosystem

Choose the correct answer from the options given below :

A, B, Cand D only
A, C,D and E only
.B. C.D and E only
A, B,D and E only

1L,
2.
3

4.

1) 1
(2) 2
(3) 3
(4) 4

S b-siaR B gk Aled | fafHe gaiavuiig Ide iHd 8. Sl d= & [dhr &I UHIfad Pl g d o -

A. Y&Ad
B. H¥IdA
C.ded oA
D. dfg:dd
E. alddd

i feu U fasredl # 9 T Iugad IR &1 989 B |

1. A A, B, C 3R D
2. HAA A, C,D 3R E
3. %dd B, C.D 3R E
4. $9d A, B,D 3R E

(1) 1
) 2
3) 3
(4) 4

1[Option ID=44485] Question Description : social_work_social work_set1_english_q47
2[Option ID=44486]
3[Option ID=44487]
4[Option ID=44488]

Sl. No.48
QBID:110048

Due to COVID pandemic, workers had started fleeing from urban areas to their villages. This may be treated as
form of :

A. Collective behaviour
B. Mass hysteria

C. Panic

D. Collective mind

Choose the correct answer from the options given below :

1. A. B and C only

2 A, B.CandD
3. A,Band D only

4 B. C and D only




1) 1
(2) 2
(3) 3
(4) 4

HIfds AETHRI & $RUL YS! 3 TRI T 39 M6l ©1 G Tarm- 31 AR fFar 53 FufaRaa &1 g
H AT S 9l 6 -

A. 9H[gP TdER
B. S 31
C. HES

D. 9Hfgd HTY
1< faU T fash el | I 98 Iugdd 3R DI 94 Hifoig |

1.$ddA. B3R C
2.A.B.C3RD
3. Hdd A B3IRD
4. Pdd B, C 3R D

1) 1

) 2

3) 3

4) 4

1[Option ID=44489] Question Description : social_work_social work_set1_english_q48
2[Option ID=44490]
3[Option ID=44491]
4[Option ID=44492]

Sl. No.49
QBID:110049

Group Dynamics can be understood in following domains :

A. Communication process
B. Interpersonal Attraction
C. Social Integration

D. Power and Control

Choose the correct answer from the options given below :

1. A, B and C only
2.A,B,Cand D
3. A, Band D only
4.B, C and D only

1

(2) 2

(3) 3

(@) 4




g i bl ufeiad ael & qHsr off hdi g -

A YUY yighar

B. 3fdRauleId ATHYU]
C. TSI THIHRUI
D. ifekd Td iz

1< faU 7T faeh el & 9 T8 Iugdd 3R Dl 94 HIfou|

1. HITA. B3R C
2.A.B.C3RD

3. HAAA.BARD
4. %gdA B, C 3R D

1) 1
) 2
(3) 3
(4) 4

1[Option ID=44493] Question Description : social_work_social work_set1_english_q49
2[Option ID=44494]
3[Option ID=44495]
4[Option ID=44496]

Sl. No.50
QBID:110050

Which of the following type of questions can result in misleading or inappropriate answers?

A. Contingency questions

B. Matrix questions

C. Double-Barreled questions
D. Leading questions

Choose the correct answer from the options given below :

.C and D only

. A and B only
.A, CandD only
.B, Cand D only
)1

) 2

(3) 3

(4) 4

fafafad ¥ 9 S1F-8 YR & Ukl & IR YiEd S did 34dT S-ugdd STRidld gl 9dbd g7

A, AHETH Uy
B. 3{1odg WY

C. SHd-aRE Uy
D. Hdbdd Uy

i< fau U 9 el § 9 gl IR &I 994 iU

1. $dd C 3R D
2. Had A 3R B
3. HAAA, C3ARD
4. %gd B, C 3R D

1)1
(2) 2
(3) 3
4) 4

N S I




1[Option ID=44497]
2[Option ID=44498]
3[Option ID=44499]
4[Option ID=44500]

Question Description : social_work_social work_set1_english_q50

Sl. No.51
QBID:110051

LUV o B

=

1) 1
(2) 2
(3) 3
(4) 4

Which of the following models of community work are credited to prof H.Y. Siddiqui?

A. Neighborhood Development Model
B. System Change Model

C. Social Planning Model

D. Structural Change Model

E. Social Action Model

Choose the correct answer from the options given below :

. A, Band C only
.B, Cand D only
. A, Band D only
. B, C and E only

qHEIAS BRI & FHferRad by dlsd o1 49 Wher U, diy eia! &I fear oirdl g2
A. TSIY f[ahg Alsd

B. = YR AISd

C. 9IS FgieE Aisd
D. Y3=TdHS gRad Alsd

E. 9IS a1 dlsd

1) 1
) 2
3) 3
4) 4
1[Option ID=44501]
2[Option ID=44502]

3[Option ID=44503]
4[Option ID=44504]

i feu U fasredl # 9 T8 Iugad IR &1 949 Hifog |

1. $IA A, B3R C
2. $Had B, C IR D
3. Had A, B3R D
4.%ad B, C 3R E

Question Description : social_work_social work_setl_english_q51

Sl. No.52
QBID:110052




What are the defining qualities of the “Little Community™?

A. Distinctiveness
B. Small size

C. Self sufficiency
D. Homogeneity

Choose the correct answer from the options given below :

1. A and B only
2. C and D only
3. A, Band C only
4.A,B.CandD
1) 1
) 2
(3) 3
(4) 4

Y GHETT & gRHTRG S arell fa<ivang S1H-8 82

A. fafemean

B. @Y 3R
C. o fARa
D. JHFTAT

i faU Y faeh el # 9 Tad Iugd IR DI 94 HIfou|

1. $ad A 3R B
2. %dd C AR D
3. HAAA.B 3R C
4.A.B.C3RD
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=44505] Question Description : social_work_social work_set1_english_q52
2[Option ID=44506]

3[Option ID=44507]
4[Option ID=44508]

SI. No.53
QBID:110053

Which of the following are dimensions of measurement in Human Development Report released by UNDP?

A. a long and healthy life

B. access to education

C. a decent standard of living
D. demographic dividend

Choose the correct answer from the options given below :

1. A, Band C only
2. A,Band D only
3.B.Cand D only
4. A, Cand D only

1) 1

() 2

3) 3

(4) 4




Y Sl Ul gR1 SR &1 S\ arcll A4 fasrg Raié # /o g T smari @1 2nfid fbar Srdr ge

A. U% Tdl Ud 3G Sila-
B. fR&1 d& uga

C. U UMW Sila &R
D. SH-9iRI® g i

i< fau U 9 el § 9 gl IR &I 994 iU

1. HITA. B3R C
2. Hdd A, B 3R D
3. $Had B, C 3R D
4. A A, C 3R D

1)1

2) 2

3) 3

4) 4

1[Option ID=44509] Question Description : social_work_social work_set1_english_q53
2[Option ID=44510]

3[Option ID=44511]
4[Option ID=44512]

Sl. No.54
QBID:110054

The Rights of Persons with Disabilities Act (RPwD), 2016 was amended to include which of the following
disabilities?

A. Multiple Sclerosis
B. Parkinson’s Disease
C. Cerebral Palsy

D. Thalassemia

Choose the correct answer from the options given below :

1. A, B and C only
2.B.Cand D only
3. Aand B only

4. A, Band D only

1)1
(2) 2
(3) 3
(4) 4

fRIaasHl & sigdR iafEH (3R 4l Ssg 2l 2016 H MEfcRAd fod UbR ot feoiTal oI ifde o
©q TR fohar T U

A, e iud eIy
B. Qb= I

C. T greit

D. elifEan

i< fau U f[ds el § U Tgl IR &I 98- HifU|

1. $ad A, B3R C
2. $Had B, C 3R D
3. Had A 3R B

4. BdA A. B3R D

(1) 1
) 2




3) 3
(4) 4

1[Option ID=44513] Question Description : social_work_social work_set1_english_q54
2[Option ID=44514]
3[Option ID=44515]
4[Option ID=44516]

Sl. No.55
QBID:110055

Who are part of external task environment for a voluntary organization?

A. Government

B. Funding Agency

C. Staff

D. Other Voluntary Organisations
E. Networks

Choose the correct answer from the options given below :

.A,B.C,D only
.A,C,D,E only
.B,C,D, E only
.A,B. D, E only

(1) 1
(2) 2
(3) 3
4) 4

fail Tl 116 o drel BRI URART & DI I HIT g2

A PR

B. ST (faxdiia) woidt
C. ¥

D. 3 W=y TBA
E.dcad

i< fau U f[d el § O Gl IR &I 98- iU
1.$ddA.B.C.D

L I

I

1[Option ID=44517] Question Description : social_work_social work_set1_english_q55
2[Option ID=44518]
3[Option ID=44519]
4[Option ID=44520]

Sl. No.56
QBID:110056




Which of the following is a feature of the Rights of Persons with Disabilities Act (RPwD), 20167

A. Mental illness is specified as a disability

B. Right to free education for children between 6 - 18 years of age with a benchmark disability

C. 7.5% reservation in seats in Government and Government aided higher educational institutions
D. 4% reservation for certain class of persons with benchmark disability in Government jobs

Choose the correct answer from the options given below :

1. Aand D only
2. A, Band D only
3. C and D only
4. A, Band C only

1) 1
(2) 2
3) 3
(4) 4

Y- =rerro Tafeh SR e (R 4 Sse 8. 2016 FF Fufafad o 9 $H-4 fagand:

A. HARI® ¥rq feagintdl & ®u H Ay g1

B. AT HIMEUS oI aTd 6-18 @Y @1 31 & o= dTdl §=i g [ RI&l DI HUPR|
C. WHRI Ud BRI YeHdl U 3= AP G & el U 7.5% HREfUI

D. DRI BT H ATH AMGUS D [GoHRTSI P N 5 4% BT HRET

i faU U fashedl I I Yol IR &1 994 Hifou|

1. PAdA3MRD
2. HATA. B3R D
3. Hdd C AR D
4. HAAA. B3R C

1) 1

) 2

3) 3

4) 4

1[Option ID=44521] Question Description : social_work_social work_set1_english_q56
2[Option ID=44522]
3[Option ID=44523]
4[Option ID=44524]

Sl. No.57
QBID:110057

Which of the following is NOT true about probability sampling?

A, The larger the sample, the more confidence we can have on the sample's representativeness

B. The more heterogeneous the population, the more confidence we can have in the representation of a sample
of any particular size

C. The fraction of the total population that a sample contains does not affect the sample’s representation unless
that fraction is small.

D. An inclusive sampling frame may still yield systematic bias if many sample members cannot be contacted.

Choose the correct answer from the options given below :

1. B and C only
2. Aand D only
3. Aand B only
4. B and D only

1) 1

) 2

(3 3

(4) 4




fafeiaa § 9 Gyremar ufaesia & e § &9 91 9l el 82

A. 5o 531 ufdes g df g9 ufdex &f ufaffdsmar R Ia-1 3ifes Ay & g&d g

B. ST § TS7aiT 3119 [l gl o 89 Uidaxl & faedl (9= SR &l WidHied uR 3d-1 SHied
I B T 5l

C.mﬁgﬁa@aﬂﬂ@ﬂaﬂmmiuﬁﬁfﬂﬁaﬁmﬁaﬁméw%aﬁm
EIEEEGIE

D.ﬂﬂﬁ%{ﬂﬂﬁﬂ?ﬁﬁmﬁmq&iuld JTH Bl Hebdll ¢ Ale 31 idaRl dewdl ¥ Hqeh -Tol a1 Sl
THgl

I f4U T fahedi § U Uel 3R DI 94 HIfIu|

1. $dd B 3R C
2. HFAAAIRD
3. Had A 3R B
4. HAAB3IRD

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=44525] Question Description : social_work_social work_set1_english_q57
2[Option ID=44526]
3[Option ID=44527]
4[Option ID=44528]

Sl. No.58
QBID:110058

Atma Nirbhar Bharat (Self reliant India) is built on the following pillars :

A. Economy

B. Infrastructure

C. Systems

D. Vibrant demography
E. Domestic market

Choose the most appropriate answer from the options given below :

1. A, B, CandD only
2. A, B, Cand E only
3.B,C,D and E only
4. A, C.DandE only
1) 1
2 2
3) 3
(4) 4




3H MR YR FgfaRaa § 9 foa Wi o =ifud g2

A, 3femart
B. 3dEE
o5

D. dIgsic SHildb®|

E. T dWR
i< faU T fah eyl § 9 9l 3R &1 99+ Hifou|

1.%dd A, B, C 3R D
2. HAAA, B, C 3R E
3.$ad B, C,D AR E
4. BIAA. C,D3ARE

(1)1
) 2
3) 3
(4) 4

1[Option ID=44529] Question Description : social_work_social work_set1_english_q58
2[Option ID=44530]
3[Option ID=44531]
4[Option ID=44532]

Sl. No.59
QBID:110059

Which of the following is true about the Govt. policies/programmes on Mental Health in India?

A. The National Mental Health Survey, 2015-2016

B. The Mental Health Care Act, 2017

C. Appointment of Mental Health professionals in Higher Educational Institutions (HEIs)
D. Enabling AWWSs (Anganwadi Workers) as barefoot counsellors

Choose the most appropriate answer from the options given below :

1. A and B only

2.B. Cand D only

3. Cand D only

4. A, B, Cand D only

(1)1
) 2
(3) 3
(4) 4

HRd H AFRTS Wy e waR! Hifaalardsal & e & fufafad 9 o119 3 ggl g2

A. PRI AR TR Hd&UT, 2015-2016

B. AIFYd Wy SaHTd Sfafad, 2017

C. 3= el Sl & Arie e oradniadl &t g

D. 3IHarS! HRidb i (T S Soed) Dl STHIF IRMHRIET] (SUREE HIIHR) & U H PR YaH
AT

[

i< faU T fash el # 9 T8 U IR DI 94 Hifoig |

1. $dd AR B

2. HAd B, C 3R D

3. HadC 3R D

4. BAAA. B, C3RD

1) 1




(2) 2

(3) 3

(4) 4

1[Option ID=44533] Question Description : social_work_social work_set1_english_q59
2[Option ID=44534]

3[Option ID=44535]
4[Option ID=44536]

Sl. No.60
QBID:110060

Group workers should be familiar with four types of group dynamics.

A. Positioning one self in the most comfortable situation.

B. Communication and interaction patterns

C. The cohesion of the group and its attraction for its members
D. Social controls such as norms, roles and status

E. The Group's culture

Choose the correct answer from the options given below :

.A, B, CandD only
.B, C, D and E only
.A,C,DandE only
.A,B.DandE only

(1) 1
(2) 2
(3) 3
(4) 4

Hg drRiDdlsT Bl g P! & IR YRl A GRId g1 918U -

A T8 &1 qaiiUs gue Rufd 7 3@

B. JUYU[ U4 3f=:fcha1 Ula=y

C. g Yo Td 395 HGH| o folu SHDBT HIDHYUI
D.nﬂa'?{f,vﬂﬁaﬂaﬁqﬁs{@ﬁléﬁwmﬁﬁaw

E. 9Hg 9%pid

i feu U fasredl # 9 T8 Iugad IR &1 949 Hifog |

1. $dA A, B, C 3R D
2. $add B, C,D AR E
3. Had A, C.D3IRE
4. $dd A, B.D 3R E

(1) 1
(2) 2
3) 3
(4) 4

L B

=

1[Option ID=44537] Question Description : social_work_social work_set1_english_q60
2[Option ID=44538]
3[Option ID=44539]
4[Option ID=44540]

Sl. No.61
QBID:110061




Who among the following constitute victims of substance abuse?

A. A person addicted to alcohol

B. A person dependent on narcotic drugs

C. A person addicted to aerated drink

D. A person addicted to pharmaceutical drugs

Choose the most appropriate answer from the options given below :

1. A. B and C only
2.B, Cand D only
3. A, Cand D only
4. A, Band D only

1) 1
(2) 2
3) 3
(4) 4

FafRaa g I s Aed el A difsasla g -

A. fad Sl [ IRTE &1 AT 5l

B. dg adfad oIl [ W (FIRId) TaTdl U 3T (39ad) 8l
C. 98 Afad o & vaRfes Uy ueryf &1 311l 81|

D. dg ikt ol Bl edd el &1 3l gl

i fau T [dh el # 9 gl 3R &1 94 DI

1. $IAA. B3R C
2. %Had B, C 3R D
3. HAA A, C 3R D
4. BIAA. B 3IRD

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=44541] Question Description : social_work_social work_set1_english_q61
2[Option ID=44542]
3[Option ID=44543]
4[Option ID=44544]

Sl. No.62
QBID:110062

Limitation or boundaries of the principle of the client self-determination is a result of :

A. the clients capacity for positive and constructive self-determination
B. the framework of social and moral good

C. limitations arising from law and authority

D. the unwritten standards and norms of the community

E. limitations arising from agency function

Choose the most appropriate answer from the options given below :

1. AB.C,DandE
2. A,Band E only
3.A,C.DandE only
4. A, B. Cand D only

1) 1

2) 2

3) 3

(4) 4




Harfi-srd FyRor Rigid &1 Sadad a1 978 Fgifed fegaT gk g2

A UHRIFD U4 GoIeD HFH-UR 5q Tardl @ e
B. IS Ud Hfdeh YHT ! 0|

c. fafer Td IIfIeR ¥ Ig1fad HHeEan|

D. GHER & HicRdd AP Ud HIFGUS

E. Toidl Yebrd ¥ Iegifdd g1H drcl diHrdedn|

[

1< faU T fas el # I T8 Iugdd IR Bl 99 Hifog|

1.A.B.C.D3RE
2. HAAA, B ARE
3. HdAA. C.D3IRE
4. BIAA. B, C 3IRD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=44545] Question Description : social_work_social work_set1_english_q62
2[Option ID=44546]

3[Option ID=44547]
4[Option ID=44548]

Sl. No.63
QBID:110063

Which of the following are typical features of weberian bureaucracy?

A. Division of labour
B. Hierarchy

C. Regulations

D. Personal

E. Record keeping

Choose the correct answer from the options given below :

A.Band D only

A, B, C and E only
B. C,D and E only
A, C.D and E only

1i:
2,
3.
4.
(1) 1
(2) 2

(3) 3
(4) 4

qafea TpRargl & FafaRad $19-3 fafy faRwan € »

A. 41 faureH
B. U-IIUH
c. fafHaTa

D. Al Td
E. Uoid 3@EH1

i< faU 7T fash el # I T8 Uy IR DI 94 Hifoig |

1.%ad A, B 3R D

2. HAA A, B, C AR E
3. $had B, C,D 3R E
4. BIAA. C,D R E

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=44549] Question Description : social_work_social work_set1_english_q63
2[Option ID=44550]

3[Option ID=44551]
4[Option ID=44552]

Sl. No.64
QBID:110064

Mention the ways in which qualitative data analysis differs from quantitative data analysis

A. Emphasis on seeking universal generalizations, rather than sensifivity to context
B. A focus on meanings. rather than on quantifiable phenomena
C. Collection of many data on a few cases, rather than few data on many cases

D. Presuming the possibility of value-free inquiry
Choose the correct answer from the options given below :

1. Aand C only
2.B,C, D only
3.Band C only
4. A and B only

1)1
(2) 2
3) 3
(4) 4

UY DIH-4 dli g 54 TUIaHiRe ded [qeayu A W d2 fagdyor 3 fis gid § 2

A. T & TR § Yagaiiedl & 99T raHifie e ol Ui B3 O §d o1
B. URHATONTAS GREeT & Folld 3l 0R &aH dhisd He1

C. 31 ANl & IR H $O 9l & gollU H A & gR H 3 T2di DI GUgul
D. Hed Had ofid Dl GHIGAT BT S{THT AT

i fau U f[ds el § U gl IR &I 98- HIfSU|

1. Fad AR C
2. $ad B, C 3R D
3. HAAB 3R C
4. Fdd A 3R B

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=44553] Question Description : social_work_social work_set1_english_q64
2[Option ID=44554]
3[Option ID=44555]
4[Option ID=44556]

Sl. No.65
QBID:110065




The following categories of children are eligible for being placed under foster care :

A. Adoptable children between 6 to 8 years old who do not get adopted within a period of two years after they
were legally declared free for adoption.

B. Children between the ages 8 to 20 who are declared legally free for adoption but do not get selected by a
prospective adoptive parent within one year.

C. Children between the ages of 15 to 21 years who are declared legally free for adoption but do not get
selected by a prospective adoptive parent within one year.

D. Children with special needs, irrespective of age who do not get adopted within a period of one year after
being legally declared free for adoption.

Choose the correct answer from the options given below :

.A,Band D only
. A, CandD only
.Aand D only
.Band D only

1) 1
(2) 2
(3) 3
(4) 4

o=l Bl FFfead Afonl grde ST & Sidid 3@ & g ar gl

A. 698 qY b B 1 P 7N o A1 §=, {58 axip-Ugul & et [4fde =0 9 Faly aiftd 3 & e
&l ay @1 3qafe o HiaR T el ferm S|

B. 8 ¥ 20 IY b DI 3R] & &ed, S5 Gaeh-Ug Ul & [o1Q faferes = & e aiisa foban ma g, fobg ueb au
& YR GHToae deb-Ulel Uil gRI 39D 94+ el fhdl STl

C. 15 ¥ 21 IV dP DI 3R & IR a1 YA G0 U1e! SHHIGS GRI 90 g1 [ S|

D. 39 & & H 9 (o941 [92Y g 13l ard d=, o7 add-Ugul & (U faide &9 9 el 9iiva
B & o1 T ay & HIaR 711G g} foran S|

i faT T fah el § 9 Yei 3R DI 99+ Hifolu|

1.%ad A, B 3R D
2. HAA A, C 3R D
3. HAAdA3MRD
4. HAABIIRD

1) 1
(2) 2
(3) 3
(4) 4

o b e

1[Option ID=44557] Question Description : social_work_social work_set1_english_q65
2[Option ID=44558]
3[Option ID=44559]
4[Option ID=44560]
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Match List I with List IT

LISTI LISTII
. |Ageism I. Making judgements about other groups as inferior
IAbleism II. |To view the European cultural practices as superior to all other

Eurocentrism | [IL. [Discrimination in the favour of the able bodied

o|o|w|>

. [Ethnocentrism | IV, [Holding of prejudicial view about individuals or groups based on their age

Choose the correct answer from the options given below:

AL B-IIL C-IIIL
AL B-IIO,  C-1IV,
AL B-IV. C-IL
ATV, B-IIL C-IL
1) 1
(2) 2
(3) 3
(4) 4

b D =

.

D-1V
D-1
D-1II
D-I

Al - 1 1Y Il - 11 BT A Bifo:

AT I T 1T
A [gTe Hewd @) L |31 9Ol & gH gH & 9N | g Al
B. [grHUAlG (TaicioH) 1L [94] =1 &1 qa1 3 G Gidiad UUTs & 3§ JH1
C [0 Fsar @I |11 [gad 3RR & ua § YgHe
D. [Toriid dsamg (@& Teied)| 1V, [iddl AR THE! i 3 & AR IR 34 9X § Jamsqyl ep @m0l HG-H]

i< 3T U [ edl | U Tal 3R &l 99 HII8:

1. A-1. B-II. C-III,
2. A-II, B-III, C-IV,
3.A-I, B-IV, C-II,
4. A-IV. B-III, C-II.

1) 1

(2) 2

3) 3

(4) 4

D-1V
D-I
D-II1
D-1

1[Option ID=44561] Question Description : social_work_social work_set1_english_q66

2[Option ID=44562]
3[Option ID=44563]
4[Option ID=44564]
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Match List I with List IT

LIST I (Sociologist and Human Behaviouralists)[LIST II (Interactionist Approaches

. [Erving Goffman

I [Ehnomethodological approach

. [Harold Garfinkel

II. [Svmbolic interaction

. |George Homans

w]le]le1h=

I11. [Dramaturgical approach

. [Herbert George Mead

IV. [Exchange approach

Choose the correct answer from the options given below:

1. A-II, B-1I, C-III,
2.A-III, B-1, C-1V,
3.A-II, B-III. C-1
4. A-IV, B-I, C-II

1)1

) 2

(3) 3

(4) 4

D-IV

D-II
D-1V
D-II1




Tl - 1% 9y e - 1 T HaH S

aﬁﬂzmmwmhaﬁ?mmm%mmﬁmmﬂm
A BRI THHA 1. eI SR SUrH
B. [¢3@@ TR0 1L [AidTee Sa:han

C. [are e1H g IIL [eshig 3urg

D. [§38¢ Sl His IV. [[5g 3uH

2 fow e faded & 9§ Ot IR &1 997 DI

1. A1, B-I, C-III, D-IV

2.A-ID, B-I, C-IV, D-II

3.A-II, B-III, C-I, D-IV

4 A-IV, B-I, C-II, D-II

(1)1

(2) 2

(3) 3

(4) 4
1[Option ID=44565] Question Description : social_work_social work_set1_english_q67
2[Option ID=44566]

3[Option ID=44567]
4[Option ID=44568]

Sl. No.68
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Match List I with List IT

LISTI LISTII
A_ [Paulo Freire [ Radical Communitv Organisation|
B. [Saul Alinsky II. |Critical Conciousness
C. B. Mullaly IIT. |Soul Force
D. Mahatma Gandhi| IV. [Privilege and oppression

Choose the correct answer from the options given below:

JA-I, B-II, C-II, D-IV
JA-IL, B-I, C-III, D-IV
JA-I, B-II, C-IV, D-II

L D

4. A-II, B-I, C-IV, D-III
) 1
(2 2
3) 3
) 4
Tl - 1 G1Y Gt - 11 DT e Pifoie:
T 1 T 1T
A [orpai e | L[S gRad-argt $776-
B [@ata=®! | I [GAGE-TdS dal
C. [l gaell I [3H &
D. [Fer@r i | 1V [faRIiEeR 3R a5

i fau U 9 el § O Gel IR DI 984 HifoTe:

1. A-I. B-II. C-III. D-IV
2. A-II, B-I, C-IlI, D-IV
3.A-I. B-II. C-IV. D-III
4. A-II, B-I, C-IV, D-III

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=44569] Question Description : social_work_social work_set1_english_q68
2[Option ID=44570]




3[Option ID=44571]
4[Option ID=44572]

Sl. No.69
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Match List I with List IT

LIST I (Five Giant Evils)|LIST II (Related Problems Areas
A |Want I |Educational disadvantage
B. |Squalor II. [llness
C. [Disease ITI. |Poverty
D. [[gnorance IV |[Homelesshess
E_ |ldleness V. [Unemplovment

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV. E-V
2.A-III, B-V, C-IV, D-I, E-II
3 AL B-IV, C-II. D-1. E-V
4. AV, B-1V, C-III. D-II. E-I

1) 1

(2) 2

3) 3

(4) 4

Al - 1 Gy Il - 11 BT e Sifoe:

R 1 (4 AR an g 1 (s SHel a)
A_ [omazadar 1 [ gii-

B. [rel I [Sart

c. RF 01 (e

D. [3dan I EEEGIl

E. |se= V. [sRITHI

1[Option ID=44573]
2[Option ID=44574]
3[Option ID=44575]
4[Option ID=44576]

i fow e fadedt & 9 It IR & 997 DI

1. A-1. B-II. C-III. D-IV. E-V
2.A-III, B-V, C-IV, D-1. E-II
3.A-III, B-IV, C-II. D-I, E-V
4. A-V, B-IV., C-III. D-II. E-I

(1) 1

) 2

3) 3

(4) 4

Question Description : social_work_social work_set1_english_q69

Sl. No.70
QBID:110070

Match List I with List IT

LIST I (Statistical Procedure

[LIST II (Statistical Test

A |It compares scores for the same individual at two or more times while controlling initial set of scores| 1. [Chi-square
B. [It is a test for the significance of the differences of the mean for three or more groups II. MANOVA
C. |Test for the significance of the joint occurrence of two nominal variables 11 JANCOVA
D |Test for significance of the differences of several means taken from the same subject IV, JANOVA

L b

B

1) 1
(2) 2

Choose the correct answer from the options given below:

. A-IIL B-1V, C-I, D-11
. A-IV, B-II, C-II, D-1
. A-I, B-1IV, C-IIL, D-II
. A-IIL, B-I, C-I1, D-IV




3) 3
(4) 4

el - 1 91y Gt - 11 DT e Hifoy

T 1 T 1
_ [3e URiTE TR g Bl Hafad ®3d gU ol 91 314d aR Uh o] Hidd & DR i ol ddiel| L [l iR
(e i o1 e THE! & 7319 @1 (adisil & Hewd &l Uk W& g 1L [Frar
&1 T1H@ TRI & S0ad ¥4 Y "fed g+ & Hed B 1| 111 [o=pial
T Bl [quIa] (Geeide) U [o T 3 Q1eH! i (YFart & Jew P Gd&m| IV. [g41aT

I 34U TTE [ el H ¥ Yol 3R &l 99 DIoIe:

1. A-III, B-1IV. C-I, D-1I
2. A-IV, B-III, C-II, D-1
3. A-I, B-1IV, C-111, D-IT
4. A-IIL, B-1, C-1II. D-IV

1) 1

) 2

(3) 3

(4) 4

o|ofw]>

1[Option ID=44577] Question Description : social_work_social work_set1_english_q70
2[Option ID=44578]
3[Option ID=44579]
4[Option ID=44580]

Sl. No.71
QBID:110071

Match List I with List IT

LIST I (Level of Measurement) LIST II (Characteristics)

. [Nominal I. [The distance between the categories are 1dentical across its range of categories

Ordinal II. [nterval. with a true, natural zero

Interval III. [Comprises categories that cannot be rank ordered

_ [Ratio IV, |Categories can be rank ordered but the distances between the categories are not equal across the range

o|o|w|>

Choose the correct answer from the options given below:

1. A-1. B-1I, C-III, D-IV
2. A-1II, B-1. C-IV, D-II
3. A-III, B-IV, C-1, D-II
4. A-IIT, B-II., C-IV. D-1

1) 1

) 2

3) 3

(4) 4

el 161 T 1 9 fAaH Sifog

Ht 1 (HT0T &1 =7) Ft 11 (FE=Taame

A e @ftme | 1 3R o e gRal S9! 3100 @1 39 1R H J9ET o

B. [ a® (HTeAq)| I [0 Tel, 78R 1d - & 91y a1 |

C_ oo @ezamy |11 [55H 3 A0l ©, o <o & ) 1601 ol Gbar ¢ |

D. [aard (R | 1V |3T0rl &1 3 H 601 off Udhd] &, did <o ¥R | 4105l & aid giRdl 9HH el sldl & |

fafafad fdeedl & O U8l IR &1 994 Sifoe ;

1. A-I, B-1I, C-III. D-IV
2. A-III B-1. C-IV, D-II
3. A-III. B-1V, C-1. D-1I
4. A-IIT, B-1I, C-IV, D-1

(1) 1

(2) 2

(3) 3

(4) 4




1[Option ID=44581] Question Description : social_work_social work_set1_english_q71
2[Option ID=44582]
3[Option ID=44583]
4[Option ID=44584]

Sl. No.72
QBID:110072

Match List I with List IT

LIST I (Categories of crimes) LIST IT (Examples)
A |Crime without victim I [|Stock manipulation. price fixing|
B. |Corporate Crime II. Burglary, Larceny theft
C. |White Collar Crime 111 [Toxic Pollution, Corruption
D. |Crime against property IV |Gambling, Prostitution

Choose the correct answer from the options given below:

CA-L B-IL C-IV, D-1IT
AL B-II0L, C-1, D-IV
. A-IIIL, B-1I1, C-IV, D-1
ATV, B-1, C-III, D-II
1) 1
) 2
3) 3
(4) 4

Match List I with List IT

LV I o I

.

LIST I (SURTY P A0 LIST II (SSTEX0)
A [isd & fe1 sy | L el J e3-1R. dibd [igd $31 (1D H903H, Wgd [hieg

BRUNE AR 1. [ g @RE. IR

B.
C. [AUhayIe Oy 111 [N Gl HPraR
D. [grafy gde amuRry | v | o3, d=argh

Choose the correct answer from the options given below:

.A-L B-I1L, C-IV, D-1I1
AT B-II0, C-1, D-IV
CA-IL, B-I1L C-1V, D-1
.A-TV, B-1, C-III, D-II
1) 1
(2) 2
(3) 3
(4) 4

b I =

I

1[Option ID=44585] Question Description : social_work_social work_set1_english_q72
2[Option ID=44586]
3[Option ID=44587]
4[Option ID=44588]

Sl. No.73
QBID:110073

Match List I with List IT

LIST I (Methods of Social Work)]LIST II (Associated Names

A |Case Work I WA Friedlander
B. |Group Work 1. M.G. Ross

C. |Community Orgamsation IT1. Mary Richmond
D. |Social Welfare Administration| IV, [H.B. Trecker

Choose the correct answer from the options given below:

1. A-1. B-1I, C-III, D-IV
2. A-IV, B-1II, C-II, D-1I
3. A-III, B-1, C-IV, D-TI
4. A-IIT, B-IV. C-II. D-1

(1) 1

) 2

3) 3




(4) 4

Match List I with List IT

LIST I (JTHIS 1 o1 e LIST II (Fdg ATH)
A |[duid® ab L [y, U hisasl

B. [4HE @1 1L 74 il 39

C. [FHeg® e [1L[AR] REATg

D. [l e YR v[gg & dax

Choose the correct answer from the options given below:

. A-L B-II, C-IIL, D-IV
A-IV, B-1II, C-I1, D-II
. A-IIT, B-1, C-IV, D-1I
A-IIL, B-1V, C-II, D-1

b I =

e

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=44589] Question Description : social_work_social work_set1_english_q73
2[Option ID=44590]

3[Option ID=44591]
4[Option ID=44592]

Sl. No.74
QBID:110074

Match List I with List IT

LIST I (Social Work Professionals LIST II (Area)
A |Shanta Ranganathan I [Secial work with displaced persons and communities
B. [Jeero Billimoria I1. |Social work with trafficked girls and women
C. Medha Patkar I1T. |Secial work with substance users, drug adverts and alcoholicy
D. |Sunitha Krishnan IV. |Social work with children

Choose the correct answer from the options given below:

1. A-I, B-1I, C-III, D-IV
2. A-1L, B-1II, C-1V, D-1
3. A-IIL B-1V, C-1, D-1I
4. A-IIL, B-I, C-II, D-IV

(1) 1
() 2
(3) 3
) a
el 161 i 11 9 fAae Sifog
a\%ﬁimﬁﬂﬂmﬂ?ﬂ} T3 11 (&)
. [zrian STERA 1[Gt sfeqal SR THEr! & a1y YHS d1Y
B. [oi% fafermin IL [CIUR @1 7Tg (¢[hds) Asiddl AR Afgarsf & Iy Ta dF
C. [HeTuree 111 [AIGa Ueyl a7 SUARTaHdl 3 TRiid Uar| & Hel AR Uchied & HIiG aifll dv 91y SH7 Br)
D. [g=tar V. [, ORI @R d13ee aigd & 914 991 Bh

Fafafad f[deedl 1 9 9gl 3R &1 99 HIT ;

1. A-I. B-1I, C-III, D-IV
2. A-II, B-III, C-1IV, D-1
3. A-III. B-IV, C-1. D-II
4. A-III, B-1. C-I1, D-IV

(1)1

) 2

(3) 3

(4) 4

1[Option ID=44593] Question Description : social_work_social work_set1_english_q74
2[Option ID=44594]




3[Option ID=44595]
4[Option ID=44596]

Sl. No.75
QBID:110075

Match List I with List IT

LIST I (International Conventions) LIST II (Year)
A |Universal Declaration of Human Rights I 1979
B. [International Convenant on Civil and Political Rights II. |1989
C. |Convention on the Rights of the Child ITT 11948
D. |The International Convention on the Elimination on All Forms of Discrimination Against Women| IV, [1966

Choose the correct answer from the options given below:

1. A-I, B-1I, C-III, D-IV
2. A-I1, B-1II, C-1V, D-1
3. A-IIL B-1V, C-1I, D-I
4. A-1IV, B-1I1, C-1, D-II

1) 1
(2) 2
3) 3
4) 4

Gl 161 i 11 9 fae Sifog

T 1 (SRITT HTHFAD TE O @

A g4 USRI B gy 99 I [1979

B. [[faa iR IeHifa® AfIeRi W ARy iy 1L 1989

C. [a1a S8Rl U ATy III. [1948

D. [Aigarsil & Uid Tl ¥l & HaHd & 3Ha- IR A 4THg| IV [1966

fafafad fdsedl d O U8l SR &1 997 Sifore

1. A-I, B-II, C-1II, D-IV
2. A-IT, B-III, C-1IV, D-I
3. A-IIL, B-IV, C-1I, D-1
4. A-TIV, B-111, C-1, D-1T
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=44597] Question Description : social_work_social work_set1_english_q75
2[Option ID=44598]

3[Option ID=44599]
4[Option ID=44600]

Sl. No.76
QBID:110076

Arrange the coming of the national bodies of social work in India.

A. National Association of Professional Social Workers in India
B. Indian Association of Trained Social Workers

C. Association of Schools of Social Work in India

D. Indian Conference of Social Work

Choose the correct answer from the options given below :

1.D,C B,A
2.
3

> WO
W O
Ho R
O

(1)1
) 2
(3) 3
(4) 4




HRA H AP GHIS B IS DT Ih SR & shH H oHaiRd HIfeie :

A. HRd § gaurdll gafoie sriare & 99
B. YR YRS arHifoe sridre &1 49
C. YRd & TATS &1 & faeradi &1 99

D. YR G SR G A

i< feu e fdh el # 9 9el IR D1 99 ST |
1.D,C,B,A
2.C,D.B.A
3.B.AED
4. A B.D.C
1)1
(2) 2
(3) 3
4) 4
1[Option ID=44601] Question Description : social_work_social work_setl_english_q76

2[Option ID=44602]
3[Option ID=44603]
4[Option ID=44604]

Sl. No.77
QBID:110077

Arrange the establishment of School/Department of Social Work in India in the ascending order

A. Delhi School of Social Work

B. Indore School of Social Work

C. Tata Institute of Social Sciences

D. Kashi Vidya Peeth

E. Department of Social Work, Lucknow University

Choose the correct answer from the options given below :

1.A,B,C,D,E
2.B.C.D.E.A
3.D,A,C,B.E
4. C,A.D.E.B

(1)1

(2) 2

3) 3

(4) 4

HRA H QAT SR & W / [GHFT &1 RITAT & STUR 35 HRI6! o H oaaiRyd Biforg |

A fewdl ¥pd 3iie Td ab

B. 3GR Whd H1h I I

C. TICT SEIEIC T IR Yol

D. Hfl faardis

E. GATSID R fAHRT, a3 g-aRict

o s

A fau Tl f[dhedl § U el IR &1 984 HIfoU |

1.LA,B,C.D;E
2.B.CILE A
3. DAC.B.E
4.C,A,D.E,B
1
(2 2

3) 3




4) 4

1[Option ID=44605] Question Description : social_work_social work_set1_english_q77
2[Option ID=44606]
3[Option ID=44607]
4[Option ID=44608]

Sl. No.78
QBID:110078

Arrange the correct sequence of observational learning process in treatment groups.
A. Awareness of the observer

B. Retention of the observer

C. Motivation for performing the observed behaviour

D. Performance abilities of the observer

E. Behaviour actually performed by the observer

Choose the correct answer from the options given below :

W
B
tw
o

-
e
WL
lwle!

1) 1
(2) 2
3) 3
4) 4

THel & IUAR (SIeHT 3 Ju) H faaib-1pRI HIRTH DI Yichd1 Pl el hH H AdRRYd HITT |

A. ATAGADHA] DI SREDH]

B. 3fddid-Abdl BT U eRT

C. 3Hadifdhd SOdgR & f7a & e SfiamRo

D. 3f@dl@Abd] & (ATe- Hejell &Hdans

E. 3fddid-dd] gRI dldidd & U I G201 17 a8’

i< feu e fawedi 7 O Uel IR &1 994 HIWT |
L ABCD.E
2.A.B,D.E,C
3.A,B,C,E,D
4.A.B,D,C.E
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=44609] Question Description : social_work_social work_set1_english_q78
2[Option ID=44610]
3[Option ID=44611]
4[Option ID=44612]

Sl. No.79
QBID:110079




The beginning phase of case work process, the ‘study’ entails the following steps. Arrange the steps in
order/sequence.

A. The efforts made to cope with problem-solving

B. The nature of presenting problem

C. The significance of the said problem

D. The nature of the solution or ends sought from the casework agency
E. The cause(s), onset, and precipitants of the problem

Choose the correct answer from the options given below :

1.A,B.C,D. E
2.B,.C.E.A.D
3.C,E,A.B.D
4D,E,B,C,A

1) 1

(2) 2

(3) 3

(4) 4

&Y g il & RIS =R H <31eqar & foe FafaRad 9vor srawas € | 37 <Rt &1 vel F |
AR HIOTT |

A AH & FHIYM B fhT 1T yarg

B. GHE Y d D &I Ubfd

C. Pol T3, AN 6] A

D. ¥ dob Toidl 3 U fabdl 7T GHI I1 Hied Dl Uepldl
E. YU & DRI (U1, URY HR Hd&qUdH

i< fau U f[dsedl § I Tgl IR &1 999 DI |

1. AB,C.,D,E
2.B.C.EAD
3.C,E.A.B.D
4. D.E. B, C.A

1) 1

) 2

(3) 3

(4) 4

1[Option ID=44613] Question Description : social_work_social work_set1_english_q79
2[Option ID=44614]
3[Option ID=44615]
4[Option ID=44616]

Sl. No.80
QBID:110080

Arrange the various phases of 'project life cycle' in the project management.

A. Planning stage
B. Defining stage
C. Delivering stage
D. Executing stage
E. Clean up stage

Choose the correct answer from the options given below :

L D =

H W
> wr

Wm0

Y0ng
QM

=

) 1




() 2
3) 3
(4) 4

ORI Yde H aRaToH Siia =sh & fafid =0T ol HHMER TdfRd HIfT |

A. S =R

B. ORYUINT B3 &l 9R0T ((SWHI3HT Bl
C. UGt =Rl

D. BT =R0]

E. T 2T TR01 (A% DA Bl d=0)

= feg e fdhedl # ¥ el IR D1 99 HIVT |
1.LAB.C,D.E
2.B,A,D,.C.E
3.A,B.E,D,C
4 E A BD,C
1) 1
2) 2
3) 3
(4) 4
1[Option ID=44617] Question Description : social_work_social work_set1_english_q80

2[Option ID=44618]
3[Option ID=44619]
4[Option ID=44620]

Sl. No.81
QBID:110081

The correct sequential phases in the job analysis are :

A. Preparation of job analysis programme

B. Selection of representative jobs to be analysed
C. Preparation of job description

D. Preparation of job and employee specification
E. Collection of job analysis data

Choose the correct answer from the options given below :

1. EABCD
2B CDAE
3.3)A,B,E,.C,D
4 BUE P E

1) 1

(2) 2

3) 3

4) 4




P - [GedvU & Tl hildH RO :

A. BT A0 HRIGH BT GUR HIAT |
B. Ui ® Rl & 994 H1 [a2awur
C. B [qa0 &1 AR BT
D. B Ud HHAR] ARV T dUR AT
E. H1 (AN ST T T8l

i< f3U 7T fah eyl § 9 el 3R &I 99+ BT |

WL —
AmDw
g0 »0
mgm

PP @
W w0 P

e

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=44621] Question Description : social_work_social work_set1_english_q81
2[Option ID=44622]

3[Option ID=44623]
4[Option ID=44624]
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Arrange the following in the correct sequence.

A. Vision

B. Mission

C. Goals

D. Strategies/Activities
E. Plans/Programmes

Choose the correct answer from the options given below :

LAB CGED
2 EADB,C

3. A,B.C.D.H

4.B,A,C,E,D

1) 1

(2) 2

(3) 3

(4) 4

FgfaRad &1 gsl HH 4 sualud $ifore

A fasH

B. IR

C.de]

D. Ui / Tifafafemi

E. 9I5HRl / SHRishH

i< fau U faedi # O gl I &1 90 HIfoTU |
1.A,B,C,E,D

S EAD DL

3 A B C,DE

4.B,A,C,E,D

1) 1

() 2




3) 3
(4) 4

1[Option ID=44625] Question Description : social_work_social work_set1_english_q82
2[Option ID=44626]
3[Option ID=44627]
4[Option ID=44628]
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Arrange the following legislations on women in descending order on the basis of the year of their enactment.

A. The Immoral Traffic (Prevention) Act

B. The Sexual Harassment of Women at Workplace (Prevention, Prohibition and Redressal) Act.
C. The Commission of Sati (Prevention) Act

D. The Dowry Prohibition Act

E. Protection of Women from Domestic Violence Act

Choose the correct answer from the options given below :

1.A,B.C.D,E
2.B,E.C. DA
3. B.D.E, C.A
4 E.D.C,B.A

(1) 1

) 2

3) 3

(4) 4

Afgarsii & ddy & FAyferRad faumi &1 3¢ ARATH & 99 & YR 91 2faRie] HH H HaRd Sifo |

A. offd® AR (FarRon sigfas

B. Higd3{l &1 HRIRE R il IateH (Farur, uiase 3R giaar) siefay
C. Tdl (Farun) sffe=ag

D. Goo wiauy sifafay

E. 9 feun U Afgansii o1 TRemr sfafm

HId fau e f[dsedi § 9 Yl IR &1 99 HIfou |
b AR B
LB ECD A
3,B,D,E, CA
4. E.D.CB.A
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=44629] Question Description : social_work_social work_set1_english_q83
2[Option ID=44630]
3[Option ID=44631]
4[Option ID=44632]
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Which of the following are typical sequencing for disciplinary action?

A. Oral Warning

B. Enquiry

C. Punitive action
D. Written Warning

Choose the correct answer from the options given below :

@O D W

Op @
PO
AU WA

[ S R O

(1) 1
(2) 2
3) 3
(4) 4

fufafadd 8§ O SRS H1RATs 1 ol [ARI HH R 2

A, Aifg® Tdrat
B. S
C. ST HRATS

D. faRad =arat
i< fau U famedi # O gl IR &1 9U HifoTu |

W
OFprr

>wOo
WO S w

=
SR wEvHe!

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=44633] Question Description : social_work_social work_set1_english_q84
2[Option ID=44634]

3[Option ID=44635]
4[Option ID=44636]
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Arrange the societies from early to recent

A Pastoral Societies

B. Agricultural Societies

C. Hunting and Gathering Societies
D. Horticultural Societies

E. Industrial Societies

Choose the correct answer from the options given below :

1.C,A.D.B,E
2B. EACD
3LCEBAD
4 A,B.C,D.E

1) 1

(2) 2

(3) 3

(4) 4




fafeRad gHI &1 U 9 @i db & HH § Jaiyd Hifo |
A. UERT AT

B. BV AT
C. 3RAT 3R YU YA
D. ISP THTS

E. 3AelifiTe Ius

i< f3U 7T fah eyl § 9 el 3R &I 99+ BT |
1.C,A,D,B,E
2.B,E.A,C.D
3.C,E,B,AD
4. A B,C.D.E
(1) 1
2) 2
3) 3
(4) 4
1[Option ID=44637] Question Description : social_work_social work_set1_english_q85

2[Option ID=44638]
3[Option ID=44639]
4[Option ID=44640]
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Given below are two statements ; One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  Social work could not achieve the status of a profession in India.

Reason (R) : There is no dearth of self-acclaimed social workers in India.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is incorrect.

4. (A) is incorrect but (R) is correct.

(1) 1
(2) 2
3) 3
4) 4

A9 Gl HU AU MU § - Ub AHHBYUA Assertion (A) P ©U H fdfdd § Al 81 3HP DHRUI Reason (R) D &Y
H:

HIHDYA A - FHIS SR HRA H & Aqy DI (RUfcl UIed 18] H el |

DHRUIR : HRA H A JHTSD DB Bl Plg HHI ol ¢ |

SIS HY & 3MTelld H. =i AT MY f[dhedl # ¥ 9o Iugdd &1 99 HifoT |

1. (A) 3R (R) ST WEl € 3R (R), (A) Bl WGl MG |
2. (A) 3R (R) GIF Ugl 8, Wfdh (R). (A) B! Tel AT T8l § |
3.A)Gel g A (R) el e & |

4. (A) g1 g1 ¢, dfbT (R) TSI § |

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=44641] Question Description : social_work_social work_set1_english_q86
2[Option ID=44642]
3[Option ID=44643]
4[Option ID=44644]
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Given below are two statements :

StatementI : In social group work, assessment is both a process and product upon which the helping process
is based.
Statement I : As a product, assessment is verbal or written statements of the functioning of the group and its

members, which is useful in the development of intervention plans.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement IT is true

1) 1

(2 2

(3) 3

4) 4

SR PR

DY 1 : TP Fig D1 H Jedih (3AYHS) T Ulhdl 3R U 341G il o, o7 IR Ygrd Uishd
HTTRA Bl &1

DY : U IdIE & EY H Hih-, HE 3R 34D S| Dl HrAUUINal & Hide a1 fafad fqaror g, &l
g&UIg Tieredl & fasra ¥ Iuaifi ¢ |

SWRIFd HUT & 3Tclld H, i< &U MU f[dhedl # I ga8 Iugerd 3R &1 99 Hifory :

1. HYFIAR IeH 9 o
2. BYFI SR I SH e &
3. HYA 190 ¢, dfbd YA 11 3 ©
4. PYTI I ¢, AT HYT N I ©
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=44645] Question Description : social_work_social work_set1_english_q87
2[Option ID=44646]
3[Option ID=44647]
4[Option ID=44648]
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Given below are two statements :

StatementI : Fundamental duties were incorporated in the Part-IV (A) of the constitution of India by the
42nd Constitutional Amendment.

Statement II : The idea of Fundamental duties is taken from the Constitution of Russia (erstwhile Soviet
Union)

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement IT is true

11

) 2

(3) 3

4) 4




CIERAGRICACLRI IS
DU - 42 § ST FRNeHT §RI HRAR iaem & HF-IV (U) § Hifeie ddog gHIfay fbumu & |

HYA 11 : HIfdP Deiodl Bl [FTR-FH (Id-aifday ge) &b Hidur I ferar mang |
IR HU & 3Talled H, A< eU Y fddedl # I Ga8 Iugerd IR &1 94 oy :

1L HFYFINR I T §

2. FYFI AR M GHI A &

3. HYT1TA 6, AHT HUA 1 3T &
4. Y13 g, AP YT T I §

1)1
(2) 2
3) 3
(4) 4

1[Option ID=44649] Question Description : social_work_social work_set1_english_q88
2[Option ID=44650]
3[Option ID=44651]
4[Option ID=44652]
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Given below are two statements :

StatementI : Bias in data collection refers to systematic influences that diminish the reliability or validity of
data.
Statement II : Bias can be completely eliminated in research.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are frue
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement I1 is true

1) 1

(2 2

(3) 3

4) 4

EECRIBACTRINE

DY : DSl YeH H Y&ITd aRyd WHTal &l Galiid Rl 6. [5Gy &I [dyg-1adl a1 deldl gedi o |
HYT I : Y Y& DT GURSYU] I+ bl Sff Feball o |

SWRIGd HY & 3MTclld H. A U Y f[deedl # 8 a8 Jugdd IR &1 99 BHIfod :

1. BYTIMR IS 9§
2. HYTI R I EH 3 Td &
3. HYF 190 ¢, dfbd Y 11 29I ©
4. PYTI NI ¢, AfbTPUT I I &
1 1
() 2
3) 3
(4) 4

1[Option ID=44653] Question Description : social_work_social work_set1_english_q89
2[Option ID=44654]
3[Option ID=44655]
4[Option ID=44656]
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Given below are two statements ; One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) :  Social status of women in India is low.
Reason (R): Women’s contribution to the family income is not recognised.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is incorrect.

4. (A) is incorrect but (R) is correct.

(1) 1
(2) 2
(3) 3
(4) 4

19 Gl U AU MU § - b AHHBYUA Assertion (A) P U H [dRdd § Al Q81 38D DHRUI Reason (R) b &Y
ff.

&rfﬂa?m{m - 4G § Aigarsi &l R FY TR W E |
PR (R) : TRAR D1 M0 H Afgaraii & TNTeM & ATl el ol 9k ¢ |
JWRIGd HY & 3MTclld H, =i [T Y f[deedl # 8§ a8 IJugdd 3wk &1 94 BHIfog :

1.(A) 3R (R) SFT TSI & 3R (R), (A) P! TS AR © |

2. (A) 3R (R) aIHT el &, A (R), (A) BT TSI AT -TEI © |
3. (A) Wel B, afbd (R) TR eI © |

4. (A) g1 g1 ¢, dfbT (R) TSI © |

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=44657] Question Description : social_work_social work_set1_english_q90
2[Option ID=44658]
3[Option ID=44659]
4[Option ID=44660]
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Read the following passage carefully and answer the questions that follow:

We must make our political democracy a social democracy as well. Political democracy cannot last unless
there lies at the base of it social democracy. What does social democracy mean? It means a way of life which
recognizes liberty, equality and fraternity as the principles of life. These principles of liberty, equality and
fraternity are not to be treated as separate items in a trinity. They form a union of trinity, in a sense that to divorce
one from the other is to defeat the very purpose of democracy. Liberty cannot be divorced from equality, equality
cannot be divorced from Liberty. Nor can liberty and equality be divorced from fraternity. Without equality,
liberty would produce the supremacy of the few over the many. Equality without liberty would kill individual
initiative. Without fraternity, liberty and equality could not become a natural course of things. It would require a
constable to enforce them. We must begin by acknowledging the fact that there is a complete absence of two
things in Indian society. One of these is equality. On the social plane, we have in India a society based on the
principle of graded inequality which means elevation for some and degradation for others. We are going to enter
into a life of contradictions. In politics, we will have equality, and in social and economic life we will have
inequalities. The second thing we are wanting in is recognition of the principle of fraternity. What does fraternity
mean? Fraternity means a sense of the common brotherhood of all Indians, all Indians being one people. Itis a
principle which gives unity and solidarity to social life. It is a difficult thing to achieve.

FrfeTRad ol ug ik - fag 7 vl & IR diforg +-

gH oA AeiHifde dlbdal Bl Ueb FHAIRST dldbdd Hi &1 g | Il dibda dd deb gl 3Rk |
I8 Y&Hdl ¢ od dP b 390 IS didad &I YR [Aed giar g | IHifoie didhad I o7 3= § 2
2] Hddd Siid- B dg aiid] il WdAdl, Al Ud d4d B! Sila- & [HGidl & Y § J-gd1 &l ¢ |
XA, YU U4 §¢cd & 3 [Gidl @1 39 340 ¥ gy #al (M) & ¥ § ogded el fbar g | d
R D1 TP G4 (FH) FAHT Bd 8, 39 312 H U BT = G U AN DR oAl didbad & HffalRy 35y
@l FShd B A1 ¢ | WaAdl, DI GHA U YYD (AR Tol @1 Sl Fhdl g, YA DI WaAdl ¥ JUH
(Q@FT) I8! QN Ol Gobdl § | 1 81 WaAdl U4 JHAT ! §Yal 99U a1 ST abdl 6 | JHFCN & (641
WA DS ARl & gRI 9gd I @Rl IR Fareadl ol (I Icqd Bl | FadaAdl & a1, Toadr Ud GHA
<iSil &1 U A9l ART gl &4 Gebdl | 30 AN (Faldad) D= og Yidd Bt saxgadl ohill | gH 39 a2 3l
URH ¥ gl WIPR BT AU fob YR GHTST H 1 =isll &1 guicdr 31H1d g - 395 U & GHIA | QTSP
T8 TR AR T8I YR § Aufierd Sl TR 3M1e1Rd U Tl ¢ o] a1l $ i &1 S U4 3
q1b1 & ATl &1 IR0 (Ua) I € | g8 fafdRielf & Siia= & yaw1 3 1 38 8, STel Ao oifad H gaR
Tl GHF g, TUT WrHIS Ud 2N1fdfes Sitaq & 8HR el S\aHar gl | gudl =iet i g9 @ 9le 36 &
- g © aYdl & [¥¥aid Bt ARGl | SYdl A 1 SR § 2 Sl U 1™ G4 HRdH! & ArHfesd HISaRT &
Ay Y g | ol 9t YR U 9O § | 98 U [4Gid @ Sl 9o siiad o Uahdl SR Tdhejed] &l I
UET Bl & | 39 U BRI U ghR DI G |

What does social democracy mean?

1. Recognising liberty, equality and fraternity as the principles of life.
2. Recognising principle of graded inequality.
3. Making political democracy a social democracy.
4. Treating liberty, equality and fraternity as unique items.
1) 1
) 2
(3) 3
(4) 4

IS @l O 31 3R g 2

1. SGAdT, FH U4 §efcd Dl Siia & Rigid & &9 | Jdl &1 |
2. Uit AT & gl BT ARG &l |

3. ASHIT® Al da BT JHTSTeD didhds & =9 H IUd BTl

4. TGCAT, AT U4 st Bl [y Al & =9 # gAg|

(1) 1
(2) 2
3) 3
(4) 4




1[Option ID=44661] Question Description : social_work_social work_set1_english_q91
2[Option ID=44662]
3[Option ID=44663]
4[Option ID=44664]
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Read the following passage carefully and answer the questions that follow:

We must make our political democracy a social democracy as well. Political democracy cannot last unless
there lies at the base of it social democracy. What does social democracy mean? It means a way of life which
recognizes liberty, equality and fraternity as the principles of life. These principles of liberty, equality and
fraternity are not to be treated as separate items in a trinity. They form a union of trinity, in a sense that to divorce
one from the other is to defeat the very purpose of democracy. Liberty cannot be divorced from equality, equality
cannot be divorced from Liberty. Nor can liberty and equality be divorced from fraternity. Without equality,
liberty would produce the supremacy of the few over the many. Equality without liberty would kill individual
initiative. Without fraternity, liberty and equality could not become a natural course of things. It would require a
constable to enforce them. We must begin by acknowledging the fact that there is a complete absence of two
things in Indian society. One of these is equality. On the social plane, we have in India a society based on the
principle of graded inequality which means elevation for some and degradation for others. We are going to enter
into a life of contradictions. In politics, we will have equality, and in social and economic life we will have
inequalities. The second thing we are wanting in is recognition of the principle of fraternity. What does fraternity
mean? Fraternity means a sense of the common brotherhood of all Indians, all Indians being one people. Itis a
principle which gives unity and solidarity to social life. It is a difficult thing to achieve.

frafeiRad &1 ug iR 4 13U 1 w4l & IR i -

B4 30 IS dE dlbdd Pl U FHISID didbdd Ui &1 8T | (SIS dlddd ad db ol fRdd o
I8 Y&hdl g old dP b 348 YIS didbad @l YR [Higd gidl g | YHIIP dldad U ol 3= g 2
ST HAAS Siig B 98 aRiPl Sl WoAdl, YA Ud §¢d B Sifdd & [RAGidl & Y H ARl ¢l ¢ |
AT, YHA Ud §4d & 39 Gsial & 39 30 & gus #ef (@fiNh & 0§ arded ot far S g 19
! DI U Al (HTH) [T DRl §, 39 312 H TP 1 370 O U AN R o1 didbdd & ARy 3=y
@l 1Shd PR &1 ¢ | TdAdI, DI GHFA ° G (GFT) ol @1 Sl Yhdl o, FHM DI Wdadl ¥ JuH
() el @1 S Gebdl g | AT g1 WAl Td YAFAT B Sl J gy bl off Fbdl ¢ | YA & f&-1
WA DS ANl D gRI dgd I Rl UR il ol (R Iqd Hh | FadzAdl & a1, Tcadl Td GHAI
=iell &1 U A4fife ARl 78] & Habdl | 38 AR (Udidd) B o Gy B savgehd] giifl | g5 39 724 Pl
URH Y g1 WBR BT A1 b 1R GATS H &l =il 1 Yuicar (114 ¢ - 374 U g IHMT | AT
T8 IR gHR T8I R H Aufiiard T TR 1R U THTS ¢ fores! arerd S il &1 I Ud 3=
D1 & AT B FHIH0 (@) A § | 89 fafdRIel & g H vaw &34 o T &, Sl AsHifd Sita # gAR
TR GHMHAT SR, T TR ud sffife sita & g9R U8l SEFd el | S8l s S e dv e W8 &
- dg g dYdl D FH<id B 7=l | dedT I 1 A=A g 2 SYdl Y A H YR & Jrgfgd HIgaRrl &
Yy 7 | gl 9t YR U 99 § | 98 U Risid § o OrHifore shiad H ThdT 3R Theedl o H
U Bl & | 33 W P U SR DI ¢ |

Given below are two statements :

Statement I : The principles of liberty, equality and fraternity are to be treated as separate items.

Statement II : They form a union of trinity.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
1) 1
(2) 2
(3) 3
) 4




I &l U

HY 1 : WA, GHFT T4 §4cd & Rl gUH Al d ST H A A © |

DY A F b Th He () Bl AT P § |

JWRIFd HU & 3Tl H, A< ST MU [ edl # 9 a8 Iugerd 3R 6T 99 Hifory :

1. BYTIAR IS I9d g
2. BYAI R I SHl A § |
3. HYT 1T ¢, AfbT HYT 11 3 §
4. PYTI T S, AfbIPUT I I &
1) 1
2) 2
3) 3
4) 4

1[Option ID=44665] Question Description : social_work_social work_set1_english_q92
2[Option ID=44666]
3[Option ID=44667]
4[Option ID=44668]
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Read the following passage carefully and answer the questions that follow:

We must make our political democracy a social democracy as well. Political democracy cannot last unless
there lies at the base of it social democracy. What does social democracy mean? It means a way of life which
recognizes liberty, equality and fraternity as the principles of life. These principles of liberty, equality and
fraternity are not to be treated as separate items in a trinity. They form a union of trinity, in a sense that to divorce
one from the other is to defeat the very purpose of democracy. Liberty cannot be divorced from equality, equality
cannot be divorced from Liberty. Nor can liberty and equality be divorced from fraternity. Without equality,
liberty would produce the supremacy of the few over the many. Equality without liberty would kill individual
initiative. Without fraternity, liberty and equality could not become a natural course of things. It would require a
constable to enforce them. We must begin by acknowledging the fact that there is a complete absence of two
things in Indian society. One of these is equality. On the social plane, we have in India a society based on the
principle of graded inequality which means elevation for some and degradation for others. We are going to enter
into a life of contradictions. In politics, we will have equality, and in social and economic life we will have
inequalities. The second thing we are wanting in is recognition of the principle of fraternity. What does fraternity
mean? Fraternity means a sense of the common brotherhood of all Indians, all Indians being one people. Itis a
principle which gives unity and solidarity to social life. It is a difficult thing to achieve.

fAafeRad 1 ug SR 4 fu 7 ugi & IR i --

&4 31U oiHIdD didbdd Dl b G dldbad Hi =111 T | IASifde i dd d o 3ifkid |
38 Y&hdl g oid dP [ 348 QNS didbad @l YR [igd gidl & | GHINIP dldad 9 ol 3= g 2
ST HAAS Siid B 98 aRiPl Sl WoAdl, YA Ud §¢d @ Sifdd & [AGidl & &Y H ARl ¢dl ¢ |
GAAd], AT Ud §Yd & 31 Rigidl &l g8 74t § gus Aal (i) & U § Adgd 18! {bar o g |13
T D1 T G (1) [ Hd €, 39 312 H U BT - GO U AN DR a1 didbad & Afdfafy 35y
@l [1Shd PR &1 ¢ | TaAdI, DI GHA G (GFT) ol @1 Sl Yhdl 5, FHM DI Wdadl ¥ JuH
() gl @1 Sl Gebdl g | A1 gl WazAdl Td YHFAT D §Ydl Y gy [l off ebdl g | GHA & &1
WA O Al & gRT dgd I dlfll R gaiedl Bi [RUT Idd B | W=l & (61, WAl Ud FHA]
=ioll &1 U A4fife ARl 18] & Habdll | 38 AR (Udidd) B o iy B savgehdl giifl | g5 39 724 Pl
URH J gl WIBR BT 6T fdb HRA™ GATS H &1 <ioll &1 guldar 31HId § - $1H U ¢ GHAdT | JiHTsd
a8 IR gHR T8I HRd § Aufiard HHdT TR 1eMRd U THTS ¢ foreh! arerd S il &1 I Ud 3=
1 & AR BT FHHIGHR0T (G) U § | G SfafdRis & Sita H Ja= 3 o1 3@ 6, STel Ao oifa= § gAR
UG AT ST, U1 IS Ud 1feh Sila # GHR el SR gi | g8l <ot forl g9 @ 418 3% &
- dg § dYdl D FH<id B 7=l | dedl I 1 A=A ¢ 2 SYdl Y AR H YR & Argfged HIZaRrl &
d1y 9 g | oigl 9t YR Ud 99 © | 98 U Risid § o rHIfore shiad H ThdT 3R Theedl & H
U Bl & | 39 W P11 U SR DI ¢ |




What would be the result, if equality is divorced from liberty?

1. It will kill individual initiative

2. Produce supremacy of the few over the many
3. Require a constable to enforce it

4. Sense of social equality

1) 1

) 2

3) 3

(4) 4

e WA ¥ YHIAI 1 9y (ANT) fear S dl, aloms <1 g 2

1. Ug SHfeRITd Ugd I GHI B &7t
2. P Aldadl & gRI 31fed Afdqdl IR galeIdl I (1) g |

3. 9 A A gd Uferd Dl SrawgehdT |
4. TTHIISTEH THIA &1 e |

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=44669] Question Description : social_work_social work_set1_english_q93
2[Option ID=44670]
3[Option ID=44671]
4[Option ID=44672]
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Read the following passage carefully and answer the questions that follow:

We must make our political democracy a social democracy as well. Political democracy cannot last unless
there lies at the base of it social democracy. What does social democracy mean? It means a way of life which
recognizes liberty, equality and fraternity as the principles of life. These principles of liberty, equality and
fraternity are not to be treated as separate items in a trinity. They form a union of trinity, in a sense that to divorce
one from the other is to defeat the very purpose of democracy. Liberty cannot be divorced from equality, equality
cannot be divorced from Liberty. Nor can liberty and equality be divorced from fraternity. Without equality,
liberty would produce the supremacy of the few over the many. Equality without liberty would kill individual
initiative. Without fraternity, liberty and equality could not become a natural course of things. It would require a
constable to enforce them. We must begin by acknowledging the fact that there is a complete absence of two
things in Indian society. One of these is equality. On the social plane, we have in India a society based on the
principle of graded inequality which means elevation for some and degradation for others. We are going to enter
into a life of contradictions. In politics, we will have equality, and in social and economic life we will have
inequalities. The second thing we are wanting in is recognition of the principle of fraternity. What does fraternity
mean? Fraternity means a sense of the common brotherhood of all Indians, all Indians being one people. Itis a
principle which gives unity and solidarity to social life. It is a difficult thing to achieve.

frfeIRad ol ug 3R =i fag 7 vl & IR g +-

gH oA AeiHIfde dlcbdal Bl Ueb FHAIRST dldbdd Hi &1 g | Il dibda dd deb gl 3Rk |
I8 Y&Hdl & od dP b 398 AP didad &l YR [Afed giar g | IHifoid didhas I o7 3= § 2
2] Hddd Siid- B dg aiid] il WdAdl, Al Ud d4d B! Sila- & [HGidl & Y § J-gd1 &l ¢ |
W], AN Ud d4d & 39 NGidl &l 39 341 § gy Aal (=Nl & =9 H oAdgd gl [baI ol g | d
T D1 TP GY () T Bd 8, 39 312 H TP BI - GH U AN DR el didbid & AHffalRy 35y
Bl FShd B A1 ¢ | WaAdl, DI GHA U YYD (AR Tol @1 S Fhdl 5, YA DI WaAdl ¥ D
(QRT) el @1 Sl Gebdl § | A1 gl FazAdl Td AT DT §Ydl I GUD [bdl off Febdll g | A D &1
WA DS ARl & gRI 9gd I @Rl IR Fareadl ol (I Icqd Bl | FadaAdl & a1, Toadr Ud GHA
ISl &1 U A9iid AR 161 &1 bl | 39 AN (Faldd) = o Iiey DI saxgadl il | §H 39 a2 $l
URH ¥ gl WIPR BT AU fob YR GHTST H 1 =isll &1 guicdr 31H1d g - 395 U & GHIA | QTSP
T8 T AR T8I HRA § Aufierd Ml TR 3M1eMRd U Tl ¢ o] a1l $ anll &1 S U4 3
1! & ATl &1 FEIBR0T (Ua) I € | 88 fafdRiel & Siia= & yawr 3 1 I8 8, STel Ao offad | gHR
Tl GHF g, TUT WrHIS Ud 2N1fdfes Sitaq & 8HR el S\aHar gl | gudl =iet i g9 @ 9le 36 &
- dg © aYdl & [R¥aid Bt ARGl | SYdl A 1 SR g 2 Sl U {1 G4 HRA! & AHfgsd HISaRT &
Ay Y g | ol 9t YRAN U 9O § | 9 U [4Gid § Sl SrIiore siiad o Uahdl 3R Tdhejed &l I
UET PRl ¢ | 38 WK DRI Ueh G5hR DI ¢ |

In the passage, what does a life of contradiction indicate?

A. Inequality in social and economic life.

B. Equality in politics.

C. Inequality will blow up the structure of political democracy.
D. Equality in social and economic life.

Choose the most appropriate answer from the options given below :

. A, Band C only
. Aand B only

C and D only
.B, Cand D only
1

(2 2

(3) 3

(4) 4

e L2 BI =




Terier # <afdfdRislt Sita o1 hd Hear g 2

A, g Td 3l Sita- # 3T |
B. Xt | HET |

C. IRFAMAI ISHITd® Alddd DI el B axd B ol |
D. IHIfS® 4 3fefes Siida | THET |

HId fau T fadedi § 9 Yol IR &1 994 HIfoU |

1. pad A. B 3R C
2. Hdd AR B
3. Had C IR D
4. Hdd B, C 3RD

11

(2) 2

3) 3

(4) 4

1[Option ID=44673] Question Description : social_work_social work_set1_english_q94
2[Option ID=44674]
3[Option ID=44675]
4[Option ID=44676]

Sl. No.95
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Read the following passage carefully and answer the questions that follow:

We must make our political democracy a social democracy as well. Political democracy cannot last unless
there lies at the base of it social democracy. What does social democracy mean? It means a way of life which
recognizes liberty, equality and fraternity as the principles of life. These principles of liberty, equality and
fraternity are not to be treated as separate items in a trinity. They form a union of trinity, in a sense that to divorce
one from the other is to defeat the very purpose of democracy. Liberty cannot be divorced from equality, equality
cannot be divorced from Liberty. Nor can liberty and equality be divorced from fraternity. Without equality,
liberty would produce the supremacy of the few over the many. Equality without liberty would kill individual
initiative. Without fraternity, liberty and equality could not become a natural course of things. It would require a
constable to enforce them. We must begin by acknowledging the fact that there is a complete absence of two
things in Indian society. One of these is equality. On the social plane, we have in India a society based on the
principle of graded inequality which means elevation for some and degradation for others. We are going to enter
into a life of contradictions. In politics, we will have equality, and in social and economic life we will have
inequalities. The second thing we are wanting in is recognition of the principle of fraternity. What does fraternity
mean? Fraternity means a sense of the common brotherhood of all Indians, all Indians being one people. Itis a
principle which gives unity and solidarity to social life. It is a difficult thing to achieve.

frfeIRad ol ug 3R =i fag 7 vl & IR g +-

&4 3 IoHIdD didbdd ol U G dldbda Ul =1 g | ISHifded dibda dd db gl ki o
I8 Y&Hdl & od dP b 398 AP didad &l YR [Afed giar g | IHifoid didhas I o7 3= § 2
2] Hddd Siid- B dg aiid] il WdAdl, Al Ud d4d B! Sila- & [HGidl & Y § J-gd1 &l ¢ |
W], AN Ud d4d & 39 NGidl &l 39 341 § gy Aal (=Nl & =9 H oAdgd gl [baI ol g | d
T D1 TP GY () T Bd 8, 39 312 H TP BI - GH U AN DR el didbid & AHffalRy 35y
Bl FShd B A1 ¢ | WaAdl, DI GHA U YYD (AR Tol @1 S Fhdl 5, YA DI WaAdl ¥ D
(QRT) el @1 Sl Gebdl § | A1 gl FazAdl Td AT DT §Ydl I GUD [bdl off Febdll g | A D &1
WA DS ARl & gRI 9gd I @Rl IR Fareadl ol (I Icqd Bl | FadaAdl & a1, Toadr Ud GHA
ISl &1 U A9iid AR 161 &1 bl | 39 AN (Faldd) = o Iiey DI saxgadl il | §H 39 a2 $l
URH ¥ gl WIPR BT AU fob YR GHTST H 1 =isll &1 guicdr 31H1d g - 395 U & GHIA | QTSP
T8 T AR T8I HRA § Aufierd Ml TR 3M1eMRd U Tl ¢ o] a1l $ anll &1 S U4 3
1! & ATl &1 FEIBR0T (Ua) I € | 88 fafdRiel & Siia= & yawr 3 1 I8 8, STel Ao offad | gHR
Tl GHF g, TUT WrHIS Ud 2N1fdfes Sitaq & 8HR el S\aHar gl | gudl =iet i g9 @ 9le 36 &
- dg © aYdl & [R¥aid Bt ARGl | SYdl A 1 SR g 2 Sl U {1 G4 HRA! & AHfgsd HISaRT &
Ay Y g | ol 9t YRAN U 9O § | 9 U [4Gid § Sl SrIiore siiad o Uahdl 3R Tdhejed &l I
UET PRl ¢ | 38 WK DRI Ueh G5hR DI ¢ |

What does fraternity mean?

A. A sense of the common brotherhood of all Indians.

B. All Indian being one people.

C. Unity and solidarity to social life.

D. Fraternity is a difficult thing to achieve.
Choose the most appropriate answer from the options given below :

1. A, B and C only
2.B,Cand D only
3. C and D only
4. A and B only
1) 1
2) 2
3) 3
(4) 4




ST Y T ARG B 2

A Gl HRATET H 9[g® HISARI BT ElY |
B. 9 R U GHA E |

C. QTS Sita-T H Uehdl Ud Usholed |
D. Sl & U BT Ueh SR DI § |

HId fau T fadedi § 9 Yol IR &1 994 HIfoU |

1. $IAA. B3R C
2. %dd B, C 3R D
3. HAAC3IRD
4. Fdd A 3R B

1)1

(2) 2

(3) 3

(4) 4

1[Option ID=44677] Question Description : social_work_social work_set1_english_q95
2[Option ID=44678]

3[Option ID=44679]
4[Option ID=44680]

Sl. No.96
QBID:110096




Read the following passage carefully and answer the questions that following :

Family and marriage are age’s old social institutions. Their role and relevance in one’s life needs no explanation.
There is an abundance of literature on marriage and families both in the Indian and the Western context. Both
institutions have enjoyed an unflinching support and protection from all religions in their scriptures, and their
significance has been reinforced through religious epics. stories, anecdotes, explanations, phrases etc. Across the
globe, family is recognized as the smallest democracy at heart of society. This had also translated into the motto
of the 'International Year of the Family'. celebrated by the United Nation. Family as basic unit provides affective
and material support, inter-generational learning, caring, protection and security. It creates safety nets for the
aged, disabled, women and children. Families are also the transmission belt of common values, beliefs,
behaviours, sanskars and generational learning as the families are prime agent of the process of socialization and
in development of its members.

Most of our social problems are a by product of the social collapse of our social institutions, especially family
and marriage. Common to both the industrial and developing worlds is the phenomenon of rapid social change
which has significantly impacted sexual relationships, family formation and the attitude to rearing children. The
functions of the families are changing rapidly.

geTRaT Telier 1 gl 3R 39N Haldd el & IR 2Ifofu -

URaR Td fqarg i@ U riSe SRt § | fadt safaq & Sfia & 3! yfiieT ud urifiiadr &t
HRHAT DI DIy AGHl Tal & | HRAIY Td qigHl S daui # fadie td gRari ¥ d&fdd sgarad #
SUas ¢ | Gl Semall bl it 4wl &yl § ered WA Ud WREU U ©, 3R 3A®! Hedl & Ulitd
AgIDIA!, DU, IURSAI, HRATS 3R HgIRI e & gRI Fafeid fbar 11 § | A YHSd |,
URART &1 YA & gad ¥d W Y4 B¢ dibdd & &Y H HH Sldl g | I8 Ygad AP §R 71 T
S<RIPR GRAR a9 & 3M1e a1 H 1 gRUId gefl € | 4e P13 & U H URAR HIaTé® Ud Hifdd JrH,
S=RUIENTA SHTETH, SaHTd. TR0 Ud JRaf Ue Hdl & | I8 del. [Saaiv, Afgarsii ud a=i & fore grai
HoTTd a1 g | T e, fasrl, o0agRi, TRBRI SR UighTd AU B gediaed gfee! Hi uRar
S, il IRAR AHSIHHRUI P Uiehdl 3R 3UD Tl & fabr J ueH Hiiawdi g |

SURT ST WIS grwy, gaRT Qo Sl fawnd gikar ud f9ag & e fawdy &
UG ¢ | ST Ud faepra=iiel SRTd &Il & [e1T diid HTAISe YRad- &I gRge-T §HF 9 d dR] gl
¢ o dfite deel, URAR Yo SR S & UIe-uiyul &1 HfHgRi BT Agayu] U 8 JHIfdd fbar g |
URaR| & e did id 4 uRaldd gie & |

Which of the following is not true about family as a social institution?

1. Family is one of the oldest social institutions
2. Family as an institution enjoys support from all religious scriptures.
3. The significance of family has been ridiculed in stories, anecdotes and folklores.
4. Relevance of family in one’s life needs no explanation.
1) 1
2) 2
3) 3
(4) 4

qHIfoe ST ® U H uar & ded A Fafafaa da s wadi Tgi g 2

1. URER UrdHaH ImEToie SRei 9 ud g |

2. T TR & &9 J gRaR &1 94 oifffe ety s oA o g |

3. HYUTSl, IURSAM] 3R AlbH Ul H URaR P Hedl BT UM [BUTTI§ |

4. fopdl aafad & it § URaR &1 YRRl &1 RS $l dls AIhRdl ol 6 |

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=44681] Question Description : social_work_social work_set1_english_q96
2[Option ID=44682]




3[Option ID=44683]
4[Option ID=44684]

Sl. No.97
QBID:110097

Read the following passage carefully and answer the questions that following :

Family and marriage are age’s old social institutions. Their role and relevance in one’s life needs no explanation.
There is an abundance of literature on marriage and families both in the Indian and the Western context. Both
institutions have enjoyed an untlinching support and protection from all religions in their scriptures, and their
significance has been reinforced through religious epics. stories, anecdotes, explanations, phrases etc. Across the
globe, family is recognized as the smallest democracy at heart of society. This had also translated into the motto
of the 'International Year of the Family'. celebrated by the United Nation. Family as basic unit provides affective
and material support, inter-generational learning, caring, protection and security. It creates safety nets for the
aged, disabled, women and children. Families are also the transmission belt of common values, beliefs,
behaviours, sanskars and generational learning as the families are prime agent of the process of socialization and
in development of its members.

Most of our social problems are a by product of the social collapse of our social institutions, especially family
and marriage. Common to both the industrial and developing worlds is the phenomenon of rapid social change
which has significantly impacted sexual relationships, family formation and the attitude to rearing children. The
functions of the families are changing rapidly.

frafeead T ®1 ufed 3R I Heiferd ugl & IR S -

URAR Td f[qarg i@ Ui I SRt § | fadt aafda & Siiad & 39! YT ud urifiiadr 3t
ARAT B DIy AAGDHdl ol o | YR Td ufgedt <1 Yeuf # faarg ud gkarl 9 defq sgard &
3UASH § | il STl Bl FHt el & el A sfed FHAT Ud WREU W 6. SR 3! Hegl B el
Al BT, IURSHI, RS 3R HgIaRl e & gRI sfeld fbar 71 § | A YHed |,
URART @1 GHS & gl ¥Id R Yad B¢ didbad & w9 H JF O1dl ¢ | 98 9ga AY R JI1- [
S=RIP1Y URAR a8 P 3172l arey # +f URUI gl 8 | 7d 3b13 & U H URAR HIdTéds Ud Hifde gae,
SARYIGNTA SITERTH, SaHTd, TRV Ud GR&T UeT &Rdl § | I8 del. [qaaivll, Aigarsii ud a=di o fo1g graf
Hofrd FAfHd a1 g | S Hedl, fayral, agRi, ShRI SR dighTd e B g&diaed ufe s 4l uRar
§. J41T IRAR HTSI®H R &I UihdT 3R 396 Yo & [aHr H U 1Sl g |

SART 3ifYhier TSI THIE, gART TS/ Teurel faRivg gRaR 1t faag & amifSie fasaq @
SUId & | AIeifies Ud fabraiid wiTd <l & fag dig wrmmfses aidd= o1 afge 9 4 g drp gldt
¢ o off/es e, URAR Yo 3R §=d o UIeH-UINul &1 3R &I Agayul &9 4 JHIldd [6ar g |
gRaRi & Ui dig i 9 uRkafddsiie & |

Which of the following is correct about family?

A. Family is the basic unit that provides affective and material support.

B. Family serves as a transmission belt of common values, belief and generational learning.
C. Family is recognized as the smallest democracies at the heart of society.

D. Family is the only agency of socialization.

Choose the correct answer from the options given below :

1. A, B and C only
2.B,Cand D only
3. C.Dand E only
4. A, D and E only

)1

(2) 2

(3) 3

(4) 4




fFafafd A g oRaR S G A e T Hei 5 2

A. URAR a8 gd PTg ¢ Sl HIdTeTd Ud Hifdd JaH JgH drai ¢ |

B. URAR GHH Hedll, fayrai ok didiTa e o1 g&aiarul ufgshl & U H S ddl ¢ |
C. IRaR & YA ®f geid TR I9d B dldbdd & U AT © |

D. URAR MG & UHHE TR |

i fau U f[qedi § O gl IR BT 999 HIfeTU |

1. HAA A, B3R C
2. $ad B, C 3R D
3. $ad C,D 3R E
4. B A. D 3R E

1) 1
) 2
(3) 3
(4) 4

1[Option ID=44685] Question Description : social_work_social work_set1_english_q97
2[Option ID=44686]
3[Option ID=44687]
4[Option ID=44688]

Sl. No.98
QBID:110098

Read the following passage carefully and answer the questions that following :

Family and marriage are age’s old social institutions. Their role and relevance in one’s life needs no explanation.
There is an abundance of literature on marriage and families both in the Indian and the Western context. Both
institutions have enjoyed an untlinching support and protection from all religions in their scriptures, and their
significance has been reinforced through religious epics. stories, anecdotes, explanations, phrases etc. Across the
globe, family is recognized as the smallest democracy at heart of society. This had also translated into the motto
of the 'International Year of the Family'. celebrated by the United Nation. Family as basic unit provides affective
and material support, inter-generational learning, caring, protection and security. It creates safety nets for the
aged, disabled, women and children. Families are also the transmission belt of common values, beliefs,
behaviours, sanskars and generational learning as the families are prime agent of the process of socialization and
in development of its members.

Most of our social problems are a by product of the social collapse of our social institutions, especially family
and marriage. Common to both the industrial and developing worlds is the phenomenon of rapid social change
which has significantly impacted sexual relationships, family formation and the attitude to rearing children. The
functions of the families are changing rapidly.

Frafaiad Teie @ ufed 3k Sd Geftd usi & IR S -

URAR Td f[qarg i@ Ui I SRt § | fadt aafda & Siiad & 39! YT ud urifiiadr 3t
ARAT B DIy AAGDHdl ol o | YR Td ufgedt <1 Yeuf # faarg ud gkarl 9 defq sgard &
3UASH § | il STl Bl FHt el & el A sfed FHAT Ud WREU W 6. SR 3! Hegl B el
Al BT, IURSHI, RS 3R HgIaRl e & gRI sfeld fbar 71 § | A YHed |,
URART @1 GHS & gl ¥Id R Yad B¢ didbad & w9 H JF O1dl ¢ | 98 9ga AY R JI1- [

URAR a¥ & {1l ar H i gRUId gl § | Jd 3abls & ©U H YRAR HIdidP Ud Hifcded FH,
SARYIGNTA SITERTH, SaHTd, TRV Ud GR&T UeT &Rdl § | I8 del. [qaaivll, Aigarsii ud a=di o fo1g graf
Hofrd FAfHd a1 g | S Hedl, fayral, agRi, ShRI SR dighTd e B g&diaed ufe s 4l uRar
§. J41T IRAR HTSI®H R &I UihdT 3R 396 Yo & [aHr H U 1Sl g |

g offenisr g STy, g9 g dwiieff faRvd ukar ud faare & gmifie fawdyg #t
SUId & | AIeifies Ud fabraiid wiTd <l & fag dig wrmmfses aidd= o1 afge 9 4 g drp gldt
¢ o off/es e, URAR Yo 3R §=d o UIeH-UINul &1 3R &I Agayul &9 4 JHIldd [6ar g |
URaRI & b g 1fd 9 uRafdd g1 & |




Which of the following institution is equated as smallest democracy at the heart of the society?

. Family

. Marriage
. Caste

. Religion
1) 1

) 2

(3) 3

(4) 4

FfaRIT O 9 & 9 SR 9H19 & gedid IR J9d SI¢ didhad & JHH g 2

1. gRarR

faarg
STt
o

L D =

=

[T ]

4.
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=44689] Question Description : social_work_social work_set1_english_q98
2[Option ID=44690]

3[Option ID=44691]
4[Option ID=44692]

Sl. No.99
QBID:110099




Read the following passage carefully and answer the questions that following :

Family and marriage are age’s old social institutions. Their role and relevance in one’s life needs no explanation.
There is an abundance of literature on marriage and families both in the Indian and the Western context. Both
institutions have enjoyed an unflinching support and protection from all religions in their scriptures, and their
significance has been reinforced through religious epics. stories, anecdotes, explanations, phrases etc. Across the
globe, family is recognized as the smallest democracy at heart of society. This had also translated into the motto
of the 'International Year of the Family'. celebrated by the United Nation. Family as basic unit provides affective
and material support, inter-generational learning, caring, protection and security. It creates safety nets for the
aged, disabled, women and children. Families are also the transmission belt of common values, beliefs,
behaviours, sanskars and generational learning as the families are prime agent of the process of socialization and
in development of its members.

Most of our social problems are a by product of the social collapse of our social institutions, especially family
and marriage. Common to both the industrial and developing worlds is the phenomenon of rapid social change
which has significantly impacted sexual relationships, family formation and the attitude to rearing children. The
functions of the families are changing rapidly.

geTRaT Telier 1 gl 3R 39N Haldd el & IR 2Ifofu -

URaR Td fqarg i@ U riSe SRt § | fadt safaq & Sfia & 3! yfiieT ud urifiiadr &t
HRHAT DI DIy AGHl Tal & | HRAIY Td qigHl S daui # fadie td gRari ¥ d&fdd sgarad #
SUas ¢ | Gl Semall bl it 4wl &yl § ered WA Ud WREU U ©, 3R 3A®! Hedl & Ulitd
AgIDIA!, DU, IURSAI, HRATS 3R HgIRI e & gRI Fafeid fbar 11 § | A YHSd |,
URART &1 YA & gad ¥d W Y4 B¢ dibdd & &Y H HH Sldl g | I8 Ygad AP §R 71 T
S<RIPR GRAR a9 & 3M1e a1 H 1 gRUId gefl € | 4e P13 & U H URAR HIaTé® Ud Hifdd JrH,
S=RUIENTA SHTETH, SaHTd. TR0 Ud JRaf Ue Hdl & | I8 del. [Saaiv, Afgarsii ud a=i & fore grai
HoTTd a1 g | T e, fasrl, o0agRi, TRBRI SR UighTd AU B gediaed gfee! Hi uRar
S, il IRAR AHSIHHRUI P Uiehdl 3R 3UD Tl & fabr J ueH Hiiawdi g |

gART ARSI GHfoe IHwT, gART Iifole geiref fagndg afar g faae & amifores fasa &
UG ¢ | ST Ud faepra=iiel SRTd &Il & [e1T diid HTAISe YRad- &I gRge-T §HF 9 d dR] gl
¢ o dfite deel, URAR Yo SR S & UIe-uiyul &1 HfHgRi BT Agayu] U 8 JHIfdd fbar g |
gRaRri & yerd dig nfa G uRkafdasize g |

Which of the following are impacted by the phenomenon of rapid social change?

A. Sexual relationships

B. Family formation

C. Attitude to rearing children
D. Functions of the family

Choose the correct answer from the options given below :

1. A, B, Cand D only
2. A, Band C only
3. Aand B only
4.D only
@1
(2 2
(3) 3
(4) 4




fafeRad # 9 ®F 9 dig gmrisie giadd &1 aReed gRTUHIdd 6 2

A. & Ty

B. URAR goid

C. =1 & UTe-UIvul i SHfHgR
D. YRAR & Y1

i fau U f[qedi § O gl IR BT 999 HIfeTU |

1. %ad A, B, C 3R D
2.%dd A, B3R C
3. Hdd AR B
4.%adD
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=44693] Question Description : social_work_social work_set1_english_q99
2[Option ID=44694]

3[Option ID=44695]
4[Option ID=44696]

Sl. No.100
QBID:110100

Read the following passage carefully and answer the questions that following :

Family and marriage are age’s old social institutions. Their role and relevance in one’s life needs no explanation.
There is an abundance of literature on marriage and families both in the Indian and the Western context. Both
institutions have enjoyed an unflinching support and protection from all religions in their scriptures, and their
significance has been reinforced through religious epics. stories, anecdotes, explanations, phrases etc. Across the
globe, family is recognized as the smallest democracy at heart of society. This had also translated into the motto
of the 'International Year of the Family'. celebrated by the United Nation. Family as basic unit provides affective
and material support, inter-generational learning, caring, protection and security. It creates safety nets for the
aged, disabled, women and children. Families are also the transmission belt of common values, beliefs,
behaviours, sanskars and generational learning as the families are prime agent of the process of socialization and
in development of its members.

Most of our social problems are a by product of the social collapse of our social institutions, especially family
and marriage. Common to both the industrial and developing worlds is the phenomenon of rapid social change
which has significantly impacted sexual relationships, family formation and the attitude to rearing children. The
functions of the families are changing rapidly.

geTRaT Telier 1 gl 3R 39N Haldd el & IR 2Ifofu -

URAR T4 fqarg i UrEH s SR § | fadt aafad & Sfias & 39! YT td urifiiadr &t
ARAT | Dlg Al el & | HRAG Td uigHl gHf deul # f9arg ud uRaRT ¥ Hd&fed dgarad |
3UdsH g | el gedrell ol gt onl & geiziell § sfed YA Ud TREU U §, AR 3! Hedl Bl i
HgTbTedl, HUTSH, IJUMRSAH], ARSATSN 3R HelaR! 3G & gRI Adlerd [l 71 § | A yHsd |,
URART 1 YA & gad ¥d W Y4 B¢ dibdd & &Y H HHE Sldl g | I8 YgKi AP §R 71 T

URAR qy o 31e=l g H Hi kUi g3l § | Hd $dlg & &Y H URAR HIdIdH® Ud Hildd qH,
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Given below are two statements :

StatementI : Families are the transmission belt of common values, beliefs and generational learnings.
Statement I  : The cause for our social problems is the social collapse of family.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true
1
2) 2
(3) 3
4) 4
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1) 1
2) 2
3) 3
4) 4
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